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[5808]-201
F.Y. B.A.

COMPULSORY ENGLISH - II
Text Prescribed: Literary Gleam

(2019 Pattern) (Semester - II)
Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4067

Q1) Attempt any one from (a) and one from (b) of the following in about 150
words each. [14]

a) i) What lesson does Sudha Murty learns in Sahyadri Hills - A Lesson
in Humility?

ii) Sketch the character of Thandappa and his attitude?

b) i) What qualities made Hughie Erskine popular with men and women?
ii) Sketch the character of Hughie Erskine?

Q2) Attempt any one from (a) and one from (b) of the following in about 150
words each. [14]

a) i) Describe the narrators meeting with the girls with reference to Ruskin
Bond’s story “The Eyes are not Here”?

ii) Write a note on the theme of the story “The Eyes are not Here”?

b) i) Explain the paradox “The Child is the Father of the Man” with
reference to the poem “My  Heart Leaps Up”?

ii) Why does the heart of the poet leaps up when he sees a rainbow in
the sky?

P.T.O.
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Q3) Attempt any one from (a) and one from (b) of the following in about 150
words each. [14]

a) i) How does Shelley brings out the futility of power through his poem,
‘Ozymandias’?

ii) Describe the status of the statue of Ozymandias in the desert?

b) i) What is the central idea of the poem ‘Success is Counted Sweetest’?
ii) Write down an appreciation of the poem “Success is Counted

Sweetest”.

Q4) Do as directed : [14]

a) Fill in the blanks with correct tense form of the verbs given in the brackets
(Any Six) :
i) Ganesh has _____ (read) the book.
ii) Hard disk _____ (store) data in Kilobyte.
iii) Your friends have been _____ (wait) for you since three hour.
iv) I had _____ (visit) the Taj Mahal last month.
v) The criminal _____ (attack) the victim with a blunt object.
vi) The terrified people _____ (flee) to the mountain.
vii) The earth _____ (move) around the Sun.
viii) Abhinav and Pruthvi were _____ (study) craft.
ix) Padma have _____ (work) hard.

b) Use appropriate form of verb and tense as directed (Any four) :
i) Ramesh _____ (play: Present Perfect Progressive) excellent cricket.
ii) Suresh _____ (play: Present Perfect) Football
iii) School _____ (open: Simple Past)
iv) There _____ (be: Simple Present ) several goats in pen.
v) They _____ (play: Present Perfect) friendly match.
vi) Sangita _____ (talk: Present Progressive) on mind map.



[5808]-201 3

c) Attempt any four of the following :
i) Give synonym of ‘good’
ii) Give synonym of ‘wrong’
iii) Give antonym of ‘happy’
iv) Give antonym of ‘backward’
v) Give lexical sets related to ‘Stationary’
vi) Give lexical sets related to ‘Hotel’

Q5) Attempt any two of the following questions : [14]

a) Suman invites her friends Suresh and Sanjay for a picnic. Write a dialogue
to decline the invitation.

b) Write a dialogue to congratulate your friend for grand success in UPSC
Exam.

c) Shobha and Lata persuading Manda for shopping. Write a dialogue to
accept the proposal.

d) Make a formal request to your teacher to revise some grammar topics.
Write a dialogue.

.


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[5808]-202
F. Y. B.A.

_amR>r (MARATHI)
CC - 1A : ‘amR>r gm{hË¶ : EH$m§{H$H$m Am{U ̂ m{fH$ H$m¡eë¶{dH$mg

(2019 Pattern) (Semester - II) (11022 A)

doi : 2½ Vmg]                      [EHy$U JwU : 70
gyMZm :- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P4068

àíZ 1) Imbrbn¡H$s EH$m àíZmMo CÎma 150 eãXm§V {bhm. [10]

A) "EH$m§{H$H$m' ¶m dmL²>‘¶àH$mamMo KQ>H$ {deX H$am.

~) "EH$m§{H$H$m' g§H$ënZm ñnï> H$ê$Z EH$m§{H$Ho$Mo ñdê$n {deX H$am.

àíZ 2) Imbrbn¡H$s XmoZ àíZm§Mr CÎma 150 eãXm§V {bhm. [20]

A) "{dÇ>b Vmo Ambm Ambm' ¶m EH$m§{H$Ho$Mo g§{dYmZH$ gm§Jm.

~) ‘mZdr ì¶dhmamVrb {dg§JVr "{dÇ>b Vmo Ambm Ambm' ¶m EH$m§{H$VoVyZ H$er {XgyZ ¶oVo Vo
gmoXmhaU ñnï> H$am.

H$) "h§S>m^a Mm§XÊ¶m' ¶m EH$m§{H$Ho$Vrb nmUr àíZmMo ñdê$n {deX H$am.

S>) "h§S>m^a Mm§XÊ¶m' ‘Yrb g§̂ m d am{YH$m ¶m§À¶mVrb g§dmXmMo ñdê$n {deX H$am.

àíZ 3) Imbrbn¡H$s EH$m àíZmMo CÎma 300 eãXm§V {bhm. [20]

A) ‘Ü¶‘dJu¶ ‘mUgm§À¶m OJÊ¶mVrb {damoYm^mg "{dÇ>b Vmo Ambm Ambm' ¶m EH$m§{H$Ho$Vrb
nmÌ{MÌUmVyZ H$gm àH$Q> gmbm Amho, MMm© H$am.

~) "h§S>m^a Mm§XÊ¶m' ‘Yrb nmÌm§Mo ñd^mdaoImQ>Z {deX H$am.

SEAT No. :
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àíZ 4) Imbrbn¡H$s XmoZ àíZm§Mr CÎmao 150 eãXm§V {bhm. [20]

A) g§dmXboIZmgmR>r H$moUVr nÏ¶o nmimdr bmJVmV?

~) "OZgodm hrM B©ídagodm' ¶m {dYmZm¶m H$ënZm{dñVma H$am.

H$) Kmofdm³¶ åhUOo H$m¶ gm§JyZ Kmofdm³¶mMo ñdê$n ñnï> H$am.

S>) ^mfm§Va åhUOo H$m¶? Vo gm§JyZ ^mfm§VamH$S>o H$moUVo Z¡nwÊ¶ Agmdo bmJVmV?


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[5808]-203
F. Y. B.A. (Part- II)
_amR>r (MARATHI)

G-1-: ì¶mdhm[aH$ d Cn¶mo{OV ‘amR>r ̂ mJ - II [CC-IA]
(11022B) (2019 Pattern) (Semester - II)

(n¶m©¶r Aä¶mgH«$‘)

doi : 2½ Vmg]                      [EHy$U JwU : 70
gyMZm :- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P4069

àíZ 1) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao {bhm. [20]
A) "AmH$medmUr' ¶m ‘mÜ¶‘mMo ‘hÎd gm§Jm?

~) nmdgmi¶mV Amamo½¶mMr H$miOr H$er ¿¶mb ¶m {df¶mda S>m°³Q>a d noe§Q> ¶m§À¶mVrb
g§dmX boIZ H$am?

H$) B©-‘ob ¶m B©-g§dmX H$m¡eë¶mMr JaO d ‘hÎd ñnï> H$am?
S>) B©-g§dmX H$m¡eë¶mMo ’$m¶Xo d Amdí¶H$Vm ñnï> H$am?

àíZ 2) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao {bhm. [20]
A) bj{ZîR> Am{U ‘yb{Zð> ^mfm§VamVrb ’$aH$ ñnï> H$am.
~) ^mfm§VamMo àH$ma ñnï> H$am?

H$) ^mfm§Va H$aVmZm ¶oUmè¶m AS>MUr ñnï> H$am.
S>) Imbr {Xboë¶m B§J«Or CVmè¶mMo ‘amR>rV ^mfm§Va H$am.

One day the king saw a poorman working in the field. It was a very
cold day, but the man had very few clothes on. He was singing
merrily-while he was working. The king went to him and said’ “Dont’t
you feel the cold in this weater?” The man replied “No, I don’t feel
the cold. You see that I have to work very hard. That makes me
warm.” Then the king said to him. “ You seen to be very happy. Are
you relly happy?” The man replied, “of course, I am. I have no time
to be unhappy.”

SEAT No. :
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àíZ 3) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao {bhm. [30]

A) {Q>ßnUrboIZ åhUOo H$m¶? Vo gm§JyZ {Q>ßnUrMo àH$ma g{dñVa ‘m{hVr {bhm.

~) Vw‘À¶m {Oëh¶mVrb gwà{gÕ {MÌH$mamÀ¶m d¶mbm (A‘¥V ‘hmoËgd) 75 df©o nyU© Pmbobr
AmhoV. Ë¶m§À¶m Jm¡admW© H$mT>Ê¶mV ¶oUmè¶m ñ‘a{UHo$Mm AmamIS>m V¶ma H$am.

H$) AmH$medmUrdarb Om{hamV boIZmMr d¡{eï>¶o gm§JyZ g{dñVa ‘m{hVr Úm.

S>) Ame¶ boIZm‘Ü¶o H$moUË¶m ‘hËdmÀ¶m Jmoï>tMm g‘mdoe hmoVmo?


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[5808]-204

First Year B.A.

FRENCH GENERAL - II : ADVANCED COURSE

 (2019 Pattern) (Semester - II) (11032)

Total Time: 2½ Hours.      [Total Marks: 70

P 6375
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[5808]-205

 First Year B.A.

FRENCH GENERAL - II : BASIC COURSE (Beginners)

 (2019 Pattern) (Semester - II) (11482)

Total Time: 2½ Hours.      [Total Marks: 70

SET A

P 6376
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F.Y. B.A.

11043 : GERMAN
GGA2 : German General 2 : Advanced Course

(2019 Pattern) (Semester - II)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidate:

Use of a dictionary is not allowed.

P4070
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[5808]-207
F.Y. B.A.

11044 : GERMAN
GGB2 : German General 2 : Basic Course

(2019 Pattern) (Semester - II)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) 30 Marks Internal Assessment.

P4071
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[5808]-208
First Year B.A.

GUJARATI GENERAL - II
(2019 Pattern) (Semester-II) (11062)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory
2) Figures to the right indicate full marks.

P6377 [Total No. of Pages : 2
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F.Y.B.A.(Semester - II)

URDU General  (Paper - II)

(11072)  (CBCS-2019 Pattern)

P-4072

Total No. of Questions : 6

[Time : 2½  HoursTotal Marks : 70]

P.T.O.

Instructions to candidates :

1) Attempt all questions.
2) Figures to the left indicate full marks.

 :1 



 2 




 3 




 4 
 (2  (1

[10]

SEAT No.
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 5 
  

 




  5 
 vi  v  iv  iii  ii  i

 

 

 6 
 (1

 (2

 (3    

  (4

  (5









 (6

 (7



[4]

[4]
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àíZ àíZ àíZ àíZ àíZ 1) {dkmnZ H$s ^mfm Ho$ JwU {b{IE & [10]
AWdm

{dkmnZ boIZ hoVw AmMma g§{hVm H$mo ñnï> H$s{OE &

àíZ àíZ àíZ àíZ àíZ 2) {dkmnZ Ho$ H$m`m} na àH$me S>m{bE & [10]
AWdm

{dkmnZ Ho$ àH$mam| H$mo g_PmBE &

àíZ àíZ àíZ àíZ àíZ 3) AZwdmX H$s n[a^mfm ~VmH$a ñdê$n na àH$me S>m{bE & [10]
AWdm

AZwdmX H$m _hËd {deX H$s{OE &

àíZ àíZ àíZ àíZ àíZ 4) ao{S>`mo {dkmnZ H$s {deofVmAm| na àH$me S>m{bE & [10]
AWdm

AZwdmXH$ Ho$ JwUm| H$mo g_PmBE &

àíZ àíZ àíZ àíZ àíZ 5) B§Q>aZoQ> H$m g§{já B{Vhmg {b{IE & [10]
AWdm

B§Q>aZoQ> H$s Cn`mo{JVm na àH$me S>m{bE &

Total No. of Questions : 7]

[Total No. of Pages : 2

[5808]-210
F.Y. B.A.

HINDI (qhXr)(gm_mÝ`)
à`moOZ_ybH$ qhXr - IIA

(2019 Pattern) (Semester - II) (11092A)

g_` : 2½ K§Q>o     ] [ nyUmªH$ : 70

gyMZmE± … 1) g^r àíZ A{Zdm ©̀ h¢ &
2) Xm{hZr Amoa {bIo A§H$ àíZm| Ho$ nyUmªH$ h¡ &

P4073
SEAT No. :

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 6) {H$Ýht Xmo qhXr gm°âQ>doAa H$m gm_mÝ` n[aM` Xr{OE & [10]
AWdm

ẁ{ZH$moS> H$s gm_mÝ` OmZH$mar Xr{OE &

àíZ àíZ àíZ àíZ àíZ 7) {ZåZ _| go {H$Ýht Xmo na {Q>ßn{U`m± {b{IE & [10]
1. nm[a^m{fH$ eãXmo§ H$m AW© {b{IE &

i) Unit
ii) Payment
iii) Loss
iv) Inword
v) Cash

2. A§H$ VWm J{UVr` {MÝhm| H$mo XodZmJar _| {b{IE &
i) 48
ii) 19
iii) 25
iv) =
v) ×

3. AZwdmX H$s Xmo n[a^mfm {b{IE &
4. {dkmnZ H$s Xmo n[a^mfm {b{IE &


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[5808]-211
F.Y. B.A.

HINDI (G - 1)  (qhXr gm_mÝ` ñVa - 1)
d¡H$pënH$ qhXr àíZnÌ - II A

Vaikalpik Hindi Prashnapatra - II A
(2019 Pattern) (Semester - II) (11092B)
nmR²>¶nwñVHo$ : gm{hË` {d{dYm

g§nmXH$ : qhXr AÜ``Z _§S>i
gm{dÌr~mB© \w$bo nwUo {díd{dÚmb`, nwUo

g‘¶ : 2½ KÊQ>o]                      [nyUmªH$ : 70
gyMZmE± :- 1) g^r àíZ A{Zdm¶© h¢ &

2) Xm{hZr Amoa Ho$ A§H$ àíZ Ho$ nyUmªH$ h¢ &

SEAT No. :

P.T.O.

àíZ 1) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE : [14]

A) "AmX_r H$mo ß`mg bJVr h¡' H${dVm Ho$ Ame` H$mo {b{IE &

~) "am¡eZr Ho$ Cg nma' H${dVm H$s g§doXZm H$mo ñnï> H$s{OE &

H$) "CVZr Xÿa _V ã`mhZm ~m~m' H${dVm _| ẁdVr H$s {ddmh g§~§Yr AnojmAm| H$mo g_PmBE &

S>) "Ztd H$s BªQ> hmo Vw_ XrXr' H${dVm H$m ^mdmW© {b{IE &

àíZ 2) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE : [14]

A) gaOy ¡̂̀ m Ho$ M[aÌ na àH$me S>m{bE &

~) "^`' nmR> Ho$ AmYma na _Zwî` H$s {d{^ÝZ àd¥{Îm`m| na àH$me S>m{bE &

H$) "EH$ ~y±X ghgm CN>br' Bg `mÌm H$m d¥Îmm§V {b{IE &

S>) "à{VemoY' EH$m§H$s Ûmam boIH$ Zo {nVm-nwÌ g§Kf© na {H$g àH$ma go àH$me S>mbm h¡?



[5808]-211 2

àíZ 3) A) {ZåZ{b{IV ‘| go {H$gr EH$ AdVaU H$s gg§X ©̂ ì¶m»¶m H$s{OE : [7]

i) ""A~ AŠga JwOa OmVr h¡ H$åß ẁQ>a Ho$ nXm} na

~‹S>r ~oM¡Z ahVr h¡ {H$Vm~|

CÝh| A~ ZtX _| MbZo H$s AmXV hmo JB© h¡

Omo H$Xa| dmo gwZmVr Wr {H$ {OZHo$

Omo [aíVo dmo gwZmVr Wr dmo gmao CYao-CYao h¢ &''

ii) ""hm[ab hmoVo h¢ h_mar Vah hr

Km|gbo Zht ~ZmVo H$ht

~gVo Zht H$^r

Xÿa nhm‹S>m| go AmVo h¢

Xÿa O§Jbm| H$mo C‹S> OmVo h¢&''

~) {ZåZ{b{IV ‘| go {H$gr EH$ AdVaU H$s gg§X ©̂ ì¶m»¶m H$s{OE : [7]

i) ""{XZ hmo amV, {Mb{MbmVr Xþnh[a`m hmo `m A§Yoar AYa{V`m gaOy ¡̂̀ m Ho$ godm-
gXZ H$m XadmOm h_oem Iwbm ahVm h¡ &''

ii) ""{nVm g~ Hw$N> H$a gH$Vm h¡ & dh Cgo Ka go {Zdm©{gV H$a gH$Vm h¡, Om{V go
{Zdm©{gV H$a gH$Vm h¡, g_mO go {Zdm©{gV H$a gH$Vm h¡ &''

àíZ 4) A) {ZåZ{b{IV ‘| go {H$gr EH$ àíZ H$m CÎma {b{IE : [5]

i) ñdd¥Îm boIZ ~ZmVo g_` {H$Z-{H$Z ~mVm| H$m Ü`mZ aIm OmVm h¡?

ii) {ddmh Ho$ {bE ñdd¥Îm H$m Z_yZm V¡̀ ma H$s{OE &

~) {ZåZ{b{IV ‘| go {H$gr EH$ àíZ H$m CÎma {b{IE : [5]

i) {dkmnZ Ho$ àH$ma {b{IE &

ii) _mo~mB©b Ho$ {dkmnZ H$m Z_yZm V¡̀ ma H$s{OE &
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àíZ 5) A) {ZåZ{b{IV ‘| go {H$Ýht N>h dmŠ`m| H$mo ewÕ H$aHo$ {b{IE : [6]

i) _¢ gmo_dma Ho$ {XZ AmnHo$ Jm±d AmD±$Jm &

ii) Voao H$mo `hm± {H$gZo ~wbm`m h¡ &

iii) hmWr XrK© H$m` new h¡ &

iv) Hw$Umb gm±n XoIm Am¡a ^mJ {b`m &

v) _¢ boI {bIm &

vi) Bg nmR> H$mo n‹T>mo &>

vii) VrZ {XZ go dh ~g Ho$ gmW `mÌm H$a ahm h¡ &

viii) H$b gm§̀  go hr {M{‹S>`m no‹S> _| h¡ &

~) {ZåZ{b{IV ‘| go {H$gr EH$ {df` na {Z~§Y {b{IE : [12]

i) d¥jmamonZ H$m _hËd

ii) _oar _m±

iii) _oam {à` Iob


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Total No. of Questions : 5

[Time : 2½ HoursTotal Marks : 70]

P.T.O.

 Instructions to candidates :
1)  All questions are Compulsory.
2) Figures to the right indicate full Marks.

Q.1) Write a brief history of Persion Language and Literature.            [14]

Q.2) Define any three of the following. [12]

 (4  (3  (2  (1

Q.3) Reproduce any one story of the following [10]

 (3 


(2  (1   

Q.4) Write a short note on any two of the following. [14]

                (3       (2  (1 

Q.5) A) Explain in Persian or translate into English ,Urdu or Marathi

      any two of the following.      [14]

 
       (1









SEAT No.

Total No. of Pages : 2



      (2


 












 (3






 (4

  





 
       




  

           

B) Translate the unseen English Passag. [6]

The first recorded history of a Postal Service is found in the

  Writings of ziauddin Bami who Mantions that Alluddin 

Khilji organised a regular horse and foot runner service called

Hirkara's early a 1296. The Hirkara carried a baton with bells

 and  ran across their alloted territory with the mail. The 

running followed  arelay system.

     


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Q1) A) ‘amR>rV qH$dm B§J«OrV ^mfm§Va H$am. (H$moUVohr EH$) [5]

Translate into English or Marathi (any one)

i) «̂mVam¡ nmaedm¡ MÝÐgoZ‘mV¥foUm¡, ̂ mfmH${daremZ: na§ {‘Ì‘², àU{¶Zm¡ éÐZmam¶Um¡, {dX²dm§gm¡
dma~mU-dmg~mUm¡, dU©H${dd}Ur^maV:, àmH¥$VH¥$ËHw$bnwÌmo dm¶w{dH$ma:, ~pÝXdmZL²>J~mUgyMr
~mUm¡, H$Ë¶m¶{ZH$m MH«$dm{H$H$m, OmL²>Jw{bH$mo ‘¶yaH$:, ‘mX©pL²>JH$mo Or‘yV:, g¡aÝY«r
Hw$amL²>JoH$m, ‘ñH$ar Vm‘«MyS>H$: gwÔX: A^dZ²&

ii) ¶m¡JÝYam¶U :- Ed§ gå~ÝY§ ‘Ý¶Vo ‘hmgoZ:&

VoZ h¶mZr¶Vm§ ¥̂L²>Jma:&

H$mÄMwH$s¶ :- J¥h¶Vm‘² (CnZ¶{V)

^aVamohH$ :- ^mo ¶m¡JÝYam¶U! {H$ Vo ŷ¶:{à¶‘wnha{V ‘hmgoZ:

¶m¡JÝYam¶U :- ¶{X ‘o ‘hmgoZ: àgÞ, {H$‘V: na{‘ÀN>m{‘

(^aVdm³¶‘²)

^dÝËdaOgmo Jmd: naMH«§$ àemå¶Vw&

B‘m‘{n ‘ht H¥$VyZm§ amOqgh: àemñVw Z:&&

({ZîH«$mÝVm: gd©o)

P.T.O.

Total No. of Questions : 4]

[Total No. of Pages : 3

[5808]-213
F.Y. B.A. (Semester-II)
g§ñH¥$V (SANSKRIT)

A‘¥Vbhar
(Gadyapatha and Padyapatha - II)

(2019 Pattern) (CBCS) (11112)
Time : 2½ Hours] [Max. Marks : 70

gyMZm :- 1) gd© àíZ A{Zdm¶© AmhoV.
All questions are compulsory.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
Figures to right indicate full marks.
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B) ‘amR>rV qH$dm B§J«OrV ^mfm§Va H$am. (H$moUVohr EH$) [5]
Translate into Marathi or English (any one)
i) XþJm©Um§ ñWmnZ§ àm¶mo ŷnmZm‘mË‘ajH$‘²&

Vñ‘mÀN>rpënJU¡: H$m¶ª Z VÌ ZJam{XH$‘²&&

³d{MX¶{X H¥$Vo Vñ¶ {Z‘m©U§ aM¶oËH«$‘mV²&

{J[aH$mZZ ôXoZ VX²X²dmXeH$‘r[aV‘²&&

ii) AL²>Jwë¶m H$: H$nmQ>§ àha{V Hw${Q>bo ‘mYd: qH$ dgÝV:

Zmo MH«$s qH$ Hw$bmbmo Z {h Ya{UYa: {H§$  [X²d{Ohd ’$UrÝÐ:&

Zmh§ Kmoam{h‘Xu {H$‘wV IJn{V: Z h[a: qH$ H$nrÝÐ:

BË¶od§ gË¶^m‘m - à{VdMZ{OV: nmVw düH«$nm{U:&&

C) ¶ÞmåZ: àW‘mja§ {dO¶Vo ^mZm¡ pX²dVr¶mja‘² {ZË¶§ Z¥Ë¶{V gËH$drÝÐdXZo ŷËdmÝË¶dU©Xÿd¶‘²&
am‘mo amdU‘mOKmZ g‘ao eå^mo: {ea:em{bZr gm gdm©K{dZm{eZr {dO¶Vm§ OmZÝVw Vm§ nmpÊS>Vm:&&

Cn[a{Z{X©ï>§ nX¶§ n{R>Ëdm AYmo{b{IVmZm§ àýmZm§ CÎmam{U {bIV& (H$mÝ¶{nnÄM) [5]
i) ^mZm¡ eãXo àW‘mja§ {H$‘²?

ii) gËH$drÝÐdXZo H$m Z¥Ë¶{V?

iii) am‘: H§$ OKmZ?

iv) eå^mo: {ea:em{bZr H$m?

v) gdm©K{dZm{eZr B{V {deofU§ H$ñ¶m:?

vi) amdUñ¶ ¶wX²Y§ Ho$Z gh A^dV²?

Q2) A) ggÝX ©̂ ñnï>rH$aU H$am (H$moUVohr EH$) [5]
Write with reference to content (any one)
i) Y¡¶©à{VnjV¶m M ¶m¡dZmaå^ñ¶&

ii) Z h¶Zméh¶ ZmJoÝÐ§ d¡O¶ÝVr {ZnmË¶Vo&

B) ggÝX ©̂ ñnï>rH$aU H$am (H$moUVohr EH$) [5]
Write with reference to content (any one)
i) ‘hmOZmo ¶oZ JV: g: nÝWm:&

ii) Vo gd©Ì {‘bpÝV, VÎd{ZH$fJ«mdm Vw Vofm§ {dnB&



[5808]-213 3

C) C{MVm{Z ¶w½‘m{Z {d{MZwV (H$mÝ¶{n nÄM) [5]
i) ^aVamohH$ñ¶ ñdm‘r i) CX¶Z:

ii) F$½doXmV² OJ«mh ii) ‘hmgoZ àX¶moZ:

iii) ‘mhoœagyÌmUr iii) nmR>¶‘²

iv) dZXþJ©: iv) MVwX©e

v) H$mXå~æ¶m©: aM{¶Vm v) {ÌYm

vi) ‘mYd: vi) ~mU^Å>:

vii) dgÝV‘mg:

Q3) A) Am¶wd}XmVrb Amhma ¶m {df¶mda {Z~§Y {bhm. [12]
Write an essay on Amhma in the Am¶wd©oX

qH$dm/OR
‘hmH$dr ~mU^Å>mMr ‘m{hVr {bhm.

Write an information about ‘hmH$dr ~mU^Å>.

B) Q>rn {bhm (H$moUVmhr EH$) [8]
Write a short note (any one)
i) ¶m¡JÝYam¶U:

ii) H$Vm©-H$‘© VWm H$aU {dMma:&

Q4) A) ZmÏ¶moËn{Îm:& [12]
qH$dm/OR

XþJ©bjU‘²

B) Q>rn {bhm (H$moUVohr EH$) [8]
Write a short note (any one)
i) gŵ m{fVm{Z&

ii) ~X²YmÄO{b: H¥$nmH$mL²>jr nmR>o CX²Y¥Vm: H$d¶:&


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P.T.O.

Instructions to candidates :

1) Attempt all questions.
2) Figures to the right side indicate full marks.

Q.1 Translate into English or Urdu or Marathi any Two of the 

following Passages:            [20]

  ___       

 

     

     

      

 _____   

  _____     

  -          

     



  
 _____ 

SEAT No.

Total No. of Pages : 3



 _____     





 _____ 
Q.2 Write a short note on any Two of the following topics:          [16]

 (2 ___    (1            

 4     (3    

Q.3 (A) Translate into English any Five of the following:                 [10]

  (2     (1

   (4     (3

 (6    (5

 (7 

        (B)  Translate into Arabic any Five of the following:            [10] 

1)  That bus is going to the University.

2)  The student is going to the School.

3)  My father is working in his room.

4)  His office is far from his home. 

5)  There is a student in the class.

 6)  The colour of his car is beautiful.

 7)  Ali is returning from the market. 
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 Q.4 (A)  Answer the following questions in Arabic                             [7]

 (1    

 (2    

 (3   

 (4   

     (5  

  (6  

 (7  

      (B)   Fill in the Blanks with Suitable words  [7]

            (1   

    (2  

    (3  

    (4 

   (5 

   (6  

  (7 

 

 


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P4078

Q1) Answer the following questions in one or two sentence each. (Any eight)[16]
i) Define 'Service Sector'.
ii) What is Meant by Digital Economy?
iii) Define the Concept of Bank.
iv) Write the full form of NEFT.
v) What is meant by E-finance.
vi) Write a definition of poverty.
vii) What is unemployment?
viii) What is meant by KYC norms?
ix) What is meant by 'Knowledge Based Industry'?
x) Write any two employment generation programmes.

Q2) Answer the following questions in about 50 words each. (Any four) [16]
i) Give information about an 'ATM'.
ii) Explain the concept of 'Payment Bank'.
iii) State the characteristics of current account.
iv) State the objectives of Pradhan Mantri Kaushal Vikas Yojana.
v) State and discuss any three causes of 'Poverty' in India.
vi) Write the challenges of Skill Development Programme.

SEAT No. :

P.T.O.
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Q3) Answer the following questions in about 100 words each. (Any three) [18]
i) Explain the concept of informal sector.
ii) What is e-banking?
iii) Discuss the challenges of Tourism Sector in India.
iv) State the objectives of Deen Dayal Upadhyay Antyoday Yojana (DDUAY).

Q4) Answer the following questions in about 200 words each. (Any two) [20]
i) Explain the Role and Growth of Service Sector in Indian Economy.
ii) Write the types of Bank Accounts.
iii) Discuss the challenges to Indian Economy.


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gyMZm :- 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

P4078

àíZ 1) Imbrb àíZm§Mr àË òH$s EH$ qH$dm XmoZ dmŠ`mV CÎmao {bhm. (H$moUVohr AmR>) [16]
i) godm joÌmMr ì`m»`m {bhm.
ii) {S>{OQ>b AW©ì`dñWm åhUOo H$m`?
iii) ~±H$ g§H$ënZoMr ì`m»`m {bhm.
iv) NEFT Mo nwU© ê$n {bhm.
v) B©-\$m`ZmÝg åhUOo H$m`?
vi) Xm[aÐ`mMr ì`m»`m {bhm.
vii) ~oamoOJmar åhUOo H$m`?
viii) KYC (J«mhH$ n[aM` à_mUHo$) åhUOo H$m`?
ix) kmZmYm[aV CÚmoJ joÌ åhUOo H$m`?
x) H$moUVohr XmoZ amoOJma {Z{_©VrMo H$m ©̀H«$_ {bhm.

àíZ 2) Imbrb àíZm§Mr àË òH$s 50 eãXm§V CÎmao {bhm. (H$moUVohr Mma>) [16]
i) E. Q>r. E_ ~BXb _m{hVr Úm.
ii) "no_|Q> ~±H$' hr g§H$ënZm ñnï> H$am.
iii) Mmbw ImË`mMr d¡{eï>ço gm§Jm.
iv) àYmZ_§Ìr H$m¡eë` {dH$mg `moOZoMr C{Ôï>o gm§Jm.
v) ^maVr` Xm[aÐ`mMr H$moUVohr VrZ H$maUo gm§JwZ Ë`mda MMm© H$am.
vi) H$m¡eë` {dH$mg H$m ©̀H«$_mnwT>rb AmìhmZo H$moUVr Vo {bhm.
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àíZ 3) Imbrb àíZm§Mr àË òH$s 100 eãXm§V CÎmao {bhm. (H$moUVohr VrZ>) [18]

i) "AZm¡nMm[aH$ joÌ' hr g§H$ënZm ñnï> H$am.

ii) B©-~±qH$J åhUOo H$m`? \$m`Xo {bhm.

iii) ^maVr` n ©̀Q>Z joÌmg_moarb AmìhmZm§Mr MMm© H$am.

iv) XrZX`mi CnmÜ`m` A§Ë`moX` `moOZoMr C{Ôï>o gm§Jm.

àíZ 4) Imbrb àíZm§Mr àË òH$s 200 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ>) [20]

i) ^maVr` AW©ì`dñWoV godm joÌmMr ŷ{_H$m Am{U d¥Õr ñnï> H$am.

ii) ~±H$ ImË`m§Mo àH$ma {bhm.

iii) ^maVr` AW©ì`dñWog_moarb AmìhmZm§Mr MMm© H$am.





Total No. of Questions : 4]

[5808]-216
F.Y. B.A.

POLITICAL SCIENCE
GI : Introduction to Indian Constitution - II

(CBCS 2019 Pattern) (Semester - II) (11162A)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4079 [Total No. of Pages : 4

SEAT No. :

Q1) Attempt any eight questions (20 words): [16]

a) In which house of parliament is the money bill first introduced?

b) What is the total number of members in Rajya Sabha?

c) What do you mean by ‘Hung Parliament’?

d) Who appoints the Governor?

e) Who has the right to mercy in the central government?

f) What is mean by ‘Zero Hour’?

g) Who appoints chief justice of the Supreme Court?

h) In which city is the High Court of Maharashtra located?

i) What is the retirement age of a High Court Judge?

j) What is the minimum age criteria of right to vote for a citizen now?

Q2) Attempt any four questions (50 words): [16]

a) Speaker of the Lok Sabha.

b) Qualification for membership for Assembly (Vidhana Sabha).

c) Impeachment.

d) Chief Minister.

e) Judicial review.

f) Adult suffrage.

P.T.O.
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Q3) Attempt any three questions (100 words): [18]

a) State the composition’s of Rajya Sabha.

b) Write the functions of council of minister in state.

c) Explain the powers of High Court.

d) Write the functions of Election Commission.

Q4) Attempt any two questions (200 words): [20]

a) Write the powers and functions of the President of India.

b) Explain the reforms in Indian electoral system.

c) Explain the powers of the Supreme Court.


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Total No. of Questions : 4]

[5808]-216
F.Y. B.A.

POLITICAL SCIENCE
GI : Introduction to Indian Constitution - II

(CBCS 2019 Pattern) (Semester - II) (11162A)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _wi B§J«Or àíZnÌrH$m nhmdr.

P4079

à.à.à.à.à.1) WmoS>Š`mV CÎmao {bhm. (H$moUVohr AmR>) (20 eãXmV) [16]

A) YZ{dYò H$ gd©àW_ g§gXoÀ`m H$moUË`m g^mJ¥hmV gmXa Ho$bo OmVo?

~) amÁ`g ôMr EHy$U {H$Vr gXñ` g§»`m AgVo?

H$) {Ìe§Hy$ g§gX åhUOo H$m`?

S>) amÁ`nmbm§Mr {Z ẁº$s H$moU H$aVo?

B) H|$Ðr` gÎmoV X òMm A{YH$ma H$moUmbm Amho?

\$) ewÝ` àha åhUOo H$m`?

`) gdm}ƒ Ý`m`mb`mÀ`m gaÝ`m`m{Yem§Mr Zo_UyH$ H$moU H$aVmo?

a) _hmamï´>mMo Cƒ Ý`m`mb` H$moUË`m ehamV Amho?

b) Cƒ Ý`m`mb`mÀ`m Ý`m`m{Yem§Mo godm{Zd¥ÎmrMo d` {H$Vr Amho?

d) gÜ`m _VXmZmMm A{YH$ma d`mMr {H$Vr df} nwU© Ho$boë`m ZmJ[aH$m§Zm {_iVmo?

à.à.à.à.à.2) 50  eãXmV CÎmao {bhm. (H$moUVohr Mma) [16]

A) bmoH$g ôMo g^mnVr

~) {dYmZg^m gXñ`ËdmMr nmÌVm

H$) _hm{^`moJ

S>) _w»`_§Ìr

B) Ý`m`mb`rZ nwZ{d©bmoH$Z

\$) àm¡T> _Vm{YH$ma
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à.à.à.à.à.3) 100 eãXmV CÎmao {bhm. (H$moUVohr VrZ) [18]

A) amÁ`g ôMr aMZm gm§Jm.

~) amÁ`_§Ìr_§S>imMo H$m }̀ {bhm.

H$) Cƒ Ý`m`mb`mMo A{YH$ma ñnï> H$am.

S>) {ZdS>UyH$ Am`moJmMr H$m }̀ {bhm.

à.à.à.à.à.4 200 eãXmV CÎmao {bhm. (H$moUVohr XmoZ) [20]

A) amï´>nVtMo A{YH$ma d H$m }̀ {bhm.

~) ^maVr` {ZdS>UyH$ ì`dñWoVrb gwYmaUm ñnï> H$am.

H$) gdm}ƒ Ý`m`mb`mMo A{YH$ma joÌ ñnï> H$am.


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Q1) Attempt any eight questions (in 20 words each) [16]

a) What is the name of Federal Legislature?

b) What is the tenure of members of Senate?

c) State two elegibilities of House of Representative.

d) State the two elegibilities of presidential Election.

e) What is the tenure of Vice-President?

f) What is the nature of Judiciary System in USA?

g) In which case did the Supreme Court elistrated the role of judicial review?

h) Who appoints the federal election commission of USA?

i) Whom does the ministry collectivily Accountable to?

j) When was the federal judiciary established?

Q2) Attempt any four short notes (in 200 words each): [16]

a) Speaker of Senate.

b) Importance of Vice President.

c) Federal Judiciary.

d) Standing Committee of Congress.

e) Federal Election Commission.

f) Appeal Court.

P.T.O.
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Q3) Attempt any three questions (in100 words each) [18]

a) Discuss the power and functions of speakers of House of Representative.

b) Discuss on Electoral System of President.

c) Explain the importance of Federal Election Commission.

d) Explain the jurisdiction of the Supreme Court.

Q4) Attempt any two questions (in 200 words each) [20]

a) Explain the power and functions of presedent.

b) Explain the composition, power and functions of the House of

Representative.

c) Discuss the functions of federal Election Comission.


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[5808]-217

First Year B.A.
POLITICAL SCIENCE

An Introduction to the Constitution of United States of America - II
(CBCS 2019 Pattern) (Semester - II) (11162B)

(‘amR>r ê$nm§Va)

doi : 2½  Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo A{Zdm ©̀ Amho.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _wi B§J«Or àíZnÌrH$m nhmdr.

P4080

à.à.à.à.à.1) Imbrbn¡H$s H$moUË`mhr AmR> àíZm§Mr CÎmao {bhm. (20 eãXmV) [16]

A) g§KamÁ`mÀ`m H$m`Xo_§S>imMo Zmd gm§Jm.

~) {gZoQ> gXñ`m§À`m H$m ©̀H$mi {H$Vr df} AgVmo?

H$) à{V{ZYrJ¥hmÀ`m gXñ`m§À`m XmoZ nmÌVm gm§Jm.

S>) amï´>mÜ`j {ZdS>UyH$sÀ`m XmoZ nmÌVm gm§Jm.

B) Cnamï´>mÜ`jm§Mm H$m ©̀H$mi {H$Vr df} AgVmo.

\$) A_o[aHo$V H$moUË`m ñdénmMr Ý`m`ì`dñWm Amho?

`) gdm}ƒ Ý`m`mb`mZo H$moUË`m IQ>ë`mV Ý`m`mb`rZ nwZ{d©bmoH$UmMr ŷ{_H$m ñnï> Ho$br?

a) g§KamÁ`mÀ`m {ZdS>UyH$ Am`moJmMr Zo_UyH$ H$moUmH$Sy>Z Ho$br OmVo?

b) _§{Ì_§S>i gm_w{hH$arË`m H$moUmbm O~m~Xma AgVo?

d) g§KamÁ`mÀ`m \o$S>ab Ý`m`mb`mMr ñWmnZm H|$ìhm H$aÊ`mV Ambr?

à.à.à.à.à.2) Imbrbn¡H$s H$moUË`mhr Mma {Q>nm {bhm. (50 eãXmV) [16]

A) {gZoQ>Mm g^mnVr.

~) Cnamï´>mÜ`jm§Mo _hËd.

H$) g§KamÁ`mMo Ý`m`mb`.

S>) H$m±J«ogMr ñWm`r g{_Vr.

B) g§KamÁ`mMm {ZdS>UyH$ Am`moJ.

\$) A{nbmMo Ý`m`mb`.
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à.à.à.à.à.3) Imbrbn¡H$s H$moUË`mhr VrZ àíZm§Mr CÎmao {bhm. (100 eãXmV) [18]

A) à{V{ZYr J¥hmÀ`m g^mnVtMr A{YH$ma Am{U H$m_o gm§Jm.

~) amï´>mÜ`jm§À`m {ZdS>UyH$ nÕVrMr MMm© H$am.

H$) g§KamÁ`mÀ`m {ZdS>UyH$ Am`moJmMo _hËd ñnï> H$am.

S>) gdm}ƒ Ý`m`mb`mMo A{YH$ma joÌ ñnï> H$am.

à.à.à.à.à.4 Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao {bhm. (200 eãXmV) [20]

A) amï´>mÜ`jm§Mo A{YH$ma Am{U H$m_o ñnï> H$am.

~) à{V{ZYr J¥hmMr aMZm, A{YH$ma d H$m_o ñnï> H$am.

H$) g§KamÁ`mÀ`m {ZdS>UyH$ Am`moJmMr H$m_o gm§Jm.





Total No. of Questions : 4]

[5808]-218
F.Y. B.A.

HISTORY
G1 Early India : Post Mauryan Age to the Rashtrakutas

(2019 Credit Pattern) (Semester - II) (11172)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4081 [Total No. of Pages : 2

SEAT No. :

Q1) Answer the following question in 300 words. (any one) [15]
a) Describe the socio-religious and economic life of the Satavahanas period.

OR
b) Discuss the socio-political and cultural life of the Sangam period.

Q2) Answer the following questions in 300 words. (any one) [15]
a) Evaluate the achievements of Harshvardhana.

OR
b) Discuss the tripartile struggle among the Rashtrakutas, Palas and

Parmaras.

Q3) Answer the following question in 200 words. (any two) [20]
a) Discuss the salient features of the Kushan empire.
b) Explain the economy during the Sangam period.
c) Explain the administrative system of the Guptas.
d) Give an account of achievements of the Rashtrakutas.

Q4) Write a short notes. (any four) [20]
a) Menander
b) Sangam literature
c) Pushyamitra Sunga
d) Mahayana sect
e) Ajanta caves
f) Pallav art


P.T.O.
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Total No. of Questions : 4]

[5808]-218
F.Y. B.A.

HISTORY
G1 Early India : Post Mauryan Age to the Rashtrakutas

(2019 Credit Pattern) (Semester - II) (11172)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí`H$ AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P4081

à.à.à.à.à.1) Imbrb àíZmMo CÎma 300 eãXmV {bhm. (H$moUVmhr EH$) [15]
A) gmVdmhZH$mbrZ gm_m{OH$-Ym{_©H$ d Am{W©H$ OrdZmMo dU©Z H$am.

qH$dm
~) g§J_ H$mimVrb gm_m{OH$-amOH$s` d gm§ñH¥${VH$ OrdZmMr MMm© H$am.

à.à.à.à.à.2) Imbrb àíZmMo CÎma 300 eãXmV {bhm. (H$moUVmhr EH$) [15]
A) hf©dY©ZÀ`m H$m_{JarMo _wë`_mnZ H$am.

qH$dm
~) amï´>Hy$Q>, nmb Am{U na_ma `m§À`mVrb {Ìnjr` g§Kfm©Mr MMm© H$am.

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao 200 eãXmV {bhm. (H$moUVohr XmoZ) [20]
A) Hw$fmU gm_«mÁ`mÀ`m R>iH$ d¡{eîQ>çm§Mr MMm© H$am.
~) g§J_H$mbrZ AW©ì`dñWm ñnï> H$am.
H$) Jwám§Mr àemgZì`dñWm ñnï> H$am.
S>) amï´>Hy$Q>m§À`m H$m_{JarMm d¥Îmm§V Xçm.

à.à.à.à.à.4) {Q>n {bhm. (H$moUË`mhr Mma) [20]
A) {_Z±S>a
~) g§J_ gm{hË`
H$) nwî`{_Ì ew§J
S>) _hm`mZ n§W
B) AqOR>m boUr
\$) n„d H$bm





Total No. of Questions : 4]

[5808]-219
First Year B.A.

ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY
An Introduction to Ancient History of India

(2019 Pattern) (Semester - II) (CBCS) (11182) (General Paper - I)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates :

1) All questions are compulosry.
2) Figures to the right indicate full marks.

P4082 [Total No. of Pages : 2

SEAT No. :

Q1) Answer the following questions in 300 words (Any one) [15]
a) Discuss the Indian and Foreign sources of Ancient India.

OR
b) What is ‘Second Urbanization’?

Q2) Answer the following questions in 300 words (Any one) [15]
a) Write the main teachings of Bhagwan Buddha.

OR

b) What do you know about the history of Kushanas ?

Q3) Answer the following questions in 200 words (any two) [20]
a) Write  a note on History of Vardhanas.
b) Explain the economic life during 300 BCE - 700 ACE.

c) Explain the history of Satvahanas .
d) Write the achievements of pulakeshi II.

Q4) Short notes (Any four) [20]
a) Excavation
b) Dhamma of Ashoka
c) Kanishka I
d) Temples at Aihole
e) Vakatakas
f) Rashtrakuta Art


P.T.O.
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Total No. of Questions : 4]

[5808]-219
First Year B.A.

ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY
An Introduction to Ancient History of India

(2019 Pattern) (Semester - II) (CBCS) (11182) (General Paper - I)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhooV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P4082

à.à.à.à.à.1) Imbrb àíZmMo 300 eãXmV CÎma Úm. (H$moUVmhr EH$>) [15]
A) àmMrZ ^maVmMr, ^maVr¶ d naH$s¶ gmYZo ¶m§Mr MMm© H$am.

qH$dm
~) "Xÿgao ZmJ[aH$aU' åhUOo H$m¶?

à.à.à.à.à.2) Imbrb àíZmMo 300 eãXmV CÎma Úm. (H$moUVmhr EH$>) [15]
A) ^JdmZ ~wX²Ym§Mr à‘wI {eH$dU {bhm.

qH$dm
~) Hw$fmUm§Mm B{Vhmg ¶m{df¶r Vwåhm§g H$m¶ ‘m{hVr Amho?

à.à.à.à.à.3) Imbrb àíZm§Mo 200 eãXmV CÎma Úm. (H$moUVohr XmoZ) [20]
A) dY©Zm§Mm B{Vhmg ¶mda Q>rnU {bhm.
~) Bg. ny. 300 Vo Bg. 700 ¶m Xaå¶mZMo Am{W©H$ OrdZ ñnï> H$am.
H$) gmVdmhZm§Mm B{Vhmg {deX H$am.
S>) Xþgam nwbHo$er ¶mMr H$m‘{Jar {bhm.

à.à.à.à.à.4) Q>rnm {bhm. (H$moUVohr Mma) [20]
A) CËIZZ
~) AemoH$mMm Yå‘
H$) n{hbm H${ZîH$
S>) Eohmoio ¶oWrb ‘§{Xao
B) dmH$mQ>H$
’$) amï´>Hy$Q> H$bm





Total No. of Questions : 4]

[5808]-220
First Year B.A.

ANTHROPOLOGY
Introduction to Cultural and Social Organization

(2019 Pattern) (Semester - II) (11192)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4083 [Total No. of Pages : 2

SEAT No. :

Q1) Write short notes on following. (any three) [15]
a) Cultural diffusion.
b) Magic in tribal society.
c) Animism.
d) Nature of devience.
e) Shifting cultivation.

Q2) Answer the following questions in 50 words each. (any three) [15]
a) Explain the meaning of religion and its function.
b) How is inheritance practiced in tribal primitive societies.
c) Describe the characteristics of law.
d) Examine the nature of tribal leadership.
e) Examine the function of magic in tribal society.

Q3) Answer the following questions in 200 words each. (any two) [20]
a) Discuss material & non material aspect of culture.
b) Explain the characteristics of tribal economic system.
c) Discuss the nature of punishment in tribal society.
d) What are the aims and characteristics of magic?

Q4) Answer the following questions in 300 words each. (any one) [20]
a) Discuss stages of primitive economic organisation.
b) Elaborate the attributes of culture.


P.T.O.
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Total No. of Questions : 4]

[5808]-220
First Year B.A.

ANTHROPOLOGY
Introduction to Cultural and Social Organization

(2019 Pattern) (Semester - II) (11192)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _wi B§J«Or àíZnÌrH$m nhmdr.

P4083

à.à.à.à.à.1) WmoS>Š`mV Q>rnm {bhm. (H$moUË`mhr VrZ) [15]
A) gm§ñH¥${VH$ àgma
~) Am{X_ g_mOmVrb OmXÿ
H$) gdm©Ë_dmX
S>) {dMbZmMo ñdén
B) Py_ eoVr

à.à.à.à.à.2) Imbrb àíZm§Mr 50 eãXmV CÎmao {bhm. (H$moUVohr VrZ) [15]
A) Y_m©Mm AW© d Ë`mMr H$m ©̀ ñnï> H$am.
~) Am{Xdmgr g_mOmVrb dmagm H$gm nmibm OmVmo?
H$) H$m`ÚmMr d¡{eîQ>ço dU©Z H$am.
S>) Am{X_ ZoV¥ËdmMo ñdén n[ajU H$am.
B) Am{Xdmgr g_mOmVrb OmXÿÀ`m H$m`m©Mo n[ajU H$am.

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao 200 eãXmV {bhm. (H$moUVohr XmoZ) [20]
A) g§ñH¥$VrÀ`m ^m¡{VH$ d A^m¡{VH$ n¡bwda MMm© H$am.
~) Am{X_ Am{W©H$ ì`dñWoMr d¡{eîQ>ço ñnï> H$am.
H$) Am{Xdmgr g_mOmVrb {ejoMo ñdén MMm© H$am.
S>) OmXþMr CX²XrîQ>ço Am{U d¡{eîQ>ço H$m` Amho?

à.à.à.à.à.4) Imbrb àíZm§Mr CÎmao 300 eãXmV {bhm. (H$moUVmhr EH$) [20]
A) Am{X_ Am{W©H$ g§KQ>ZmMo Q>ßno `mda MMm© H$am.
~) g§ñH¥$VrMo JwUY_© g{dñVa {deX H$am.





Total No. of Questions : 4]

[5808]-221
First Year B.A.
GEOGRAPHY

G9 - 110 (B) : Human Geography
(CBCS 2019 Pattern) (Semester - II)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

3) Draw neat diagrams wherever necessary.

4) Use the map stensil is allowed.

P4084 [Total No. of Pages : 4

SEAT No. :

Q1) Write answers of the questions in about 20 words each (any eight). [16]

a) Write Definition of Human Geography.

b) Write any two branches of Human Geography.

c) Write any two Economic factors affecting on population distribution.

d) Who proposed the Demographic Transition theory?

e) Define ‘Literacy’.

f) What is settlement?

g) What is Linear settlement pattern?

h) What is urbanization?

i) Define shifting cultivation.

j) Write any two technological factors affecting on Indian agriculture.

P.T.O.
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Q2) Write short notes in about 50 words each (Any three) [18]

a) Dynamic nature of Human Geography.

b) Sex composition of India.

c) Urbanization of India.

d) Plantation Farming.

Q3) Write the answers of questions in 100 words each (Any two): [16]

a) Describe social factors affecting on population distribution.

b) Explain the scope of Human geography.

c) Explain the Economic problems of Indian Agriculture.

Q4) Write Answers of questions in 300 words each (Any one): [20]

a) Explain the pattern of rural settlement with diagram.

b) Describe in detail Demographic Transition theory.


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Total No. of Questions : 4]

[5808]-221
First Year B.A.
GEOGRAPHY

G9 - 110 (B) : Human Geography
(CBCS 2019 Pattern) (Semester - II)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.
4) ZH$mem ñQ>opÝgb dmnaÊ¶mg nadmZJr Amho.
5) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

P4084

à.à.à.à.à.1) Imbrb àíZm§Mr 20 eãXm§V CÎmao {bhm. (H$moUVohr AmR>). [16]

A) ‘mZdr ŷJmobmMr ì¶m»¶m {bhm.

~) ‘mZdr ŷJmoëmmÀ¶m H$moUË¶mhr XmoZ emIm§Mr Zmdo {bhm.

H$) bmoH$g§»¶m {dVaUmda n[aUm‘ H$aUmao H$moUVohr XmoZ Am{W©H$ KQ>H$ gm§Jm.

S>) bmoH$g§»¶m g§H«$‘U {gÕmÝV H$moUr ‘m§S>bm?

B) gmjaVoMr ì¶m»¶m {bhm.

’$) dñVr åhUOo H$m¶?

¶) aofmH¥$Vr dñË¶m§Mo àmê$n åhUOo H$m¶?

a) ZmJarH$aU åhUOo H$m¶?

b) ñWbm§VarV eoVrMr ì¶m»¶m {bhm.

d) eoVrda n[aUm‘ H$aUmè¶m H$moUË¶mhr XmoZ Vm§{ÌH$ KQ>H$m§Mr Zmdo gm§Jm.
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à.à.à.à.à.2) àË¶oH$s 50 eãXm§V {Q>nm {bhm. (H$moUVohr VrZ) [18]

A) ‘mZdr ŷJmobmMo JVr‘mZ ñdê$n

~) ^maVmVrb qbJ aMZm

H$) ^maVmVrb ZmJarH$aU

S>) ‘i¶mMr eoVr

à.à.à.à.à.3) Imbrb àíZm§Mr 100 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ). [16]

A) bmoH$g§»¶m {dVaUmda n[aUm‘ H$aUmè¶m gm‘m{OH$ KQ>H$m§Mr g{dñVa MMm© H$am.

~) ‘mZdr ŷJmobmMr ì¶már ñnï> H$am.

H$) ^maVr¶ eoVrÀ¶m Am{W©H$ g‘ñ¶m ñnîQ> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr àË¶oH$s 300 eãXm§V CÎmao {bhm. (H$moUVmhr EH$). [20]

A) J«m‘rU dñË¶m§Mr àmê$no AmH¥$Vrgh ñnï> H$am.

~) bmoH$g§»¶m g§H«$‘U {gÕmÝV g{dñVa ñnï> H$am.





Total No. of Questions : 4]

[5808]-223
First Year B.A.

 (DSC - PSY -1B) : INTRODUCTION TO SOCIAL PSYCHOLOGY
(2019 Pattern) (Semester - II) (CBCS) (11222)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates :

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4085 [Total No. of Pages : 2

SEAT No. :

Q1) Answer the following questions in 100 words each. (Any four) [4×5=20]
a) Describe the levels of social behaviour.
b) What is self- presentation?
c) What is conformity?
d) Give ways of improving helping behaviour?
e) Explain any one appreach of social behaviour?
f) Give ways of decision making in groups.

Q2) Answer the following questions in 200 words each (Any two). [2×10=20]
a) Define attitude & give reasons of attitude formation?
b) Define aggression & ways of reducing aggression?
c) Give the benefits of joining a group?
d) Give the factors of Interpersonal Attraction?

Q3) Answer the following questions in 400 words each (Any one) [1×20=20]
a) Define social psychology and explain its history and scope?
b) Define Prejudice & give ways of reducing prejudice?

Q4) Write short notes (Any Two) [2×5=10]
a) Conflict
b) Self Regulation
c) Love
d) Self - concept



P.T.O.
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Total No. of Questions : 4]

[5808]-223
First Year B.A.

 (DSC - PSY -1B) : INTRODUCTION TO SOCIAL PSYCHOLOGY
(2019 Pattern) (Semester - II) (CBCS) (11222)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P4085

à.à.à.à.à.1) Imbrb àíZm§Mr CÎma 100 eãXmV {bhm. (H$moUVohr Mma) [4×5=20]
A) gm‘m{OH$ dV©ZmMo ñVa gm§Jm.
~) ñd-gmXarH$aU åhUOo H$m¶?
H$) AZwgm[aVm åhUOo H$m¶?
S>) ghH$m¶© dV©Z dmT>{dÊ¶mMo Cnm¶ gm§Jm.
B) gm‘m{OH$ dV©ZmMm H$moUVmhr EH$ Ñ{ï>H$moZ ñnï> H$am.
’$) g‘whmV {ZU©¶mMo àH$ma gm§Jm?

à.à.à.à.à.2) Imbrb àíZm§Mr CÎma 200 eãXmV {bhm (H$moUVohr XmoZ) [2×10=20]
A) A{^d¥ÎmrMr ì¶m»¶m d A{^d¥Îmr {Z{‘©VrMo H$maUo ñnï> H$am?
~) AmH«$‘H$VoMr ì¶m»¶m d AmH«$‘H$Vm H$‘r H$aÊ¶mMo Cnm¶ gm§Jm?
H$) g‘whmMo gXñ¶ hmoÊ¶mMo ’$m¶Xo gm§Jm?
S>) Am§Vaì¶{º$H$ AmH$f©UmMr H$maUo {bhm?

à.à.à.à.à.3) Imbrb àíZm§Mr CÎma 400 eãXmV {bhm (H$moUVmhr EH$) [1×20=20]
A) gm‘m{OH$ ‘mZgemómMr ì¶m»¶m, B{Vhmg d ì¶már ñnï> H$am?
~) nwd©J«hmMr ì¶m»¶m gm§JwZ nwd©J«h H$‘r H$aÊ¶mMo Cnm¶ gm§Jm?

à.à.à.à.à.4) {Q>nm {bhm. (H$moUVohr XmoZ) [2×5=10]
A) g§Kf©
~) ñd-{Z¶‘Z
H$) ào‘
S>) ñd-g§H$ënZm





Total No. of Questions : 4]

[5808]-224
First Year B.A.

GANDHIAN THOUGHT
 G2 : Major Aspects of Gandhian Thought

(2019 CBCS Pattern) (Semester - II) (11232)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4086 [Total No. of Pages : 2

SEAT No. :

Q1) Answer any three of the following questions in 50 words each. [15]
a) Explain Gandhiji’s opinion about Religion.
b) State concept of Non-Violence according to Gandhiji.
c) Explain Gandhiji’s concept purity means.
d) Briefly explain Gandhiji’s concept of Nishakam Karmayoga.
e) State according to Gandhiji, ‘Caste : Obstacle in Indian Caste System’.

Q2) Write short notes on any three of the following in 50 words each. [15]
a) Gandhiji’s thoughts on Truth.
b) Sarva-dharma-samabhava
c) Concept of End
d) Varna system
e) Dignity of Labour

Q3) Answer any two of the following questions in 200 words each. [20]
a) Explain the impact of Upanishada and Bhagwadgeeta on Gandhiji.
b) Explain fully Ekadasavrata on ethical thought of Gandhian Philosophy.
c) Fully explain Gandhiji’s idea of Ideal State.

Q4) Answer any one the following questions in 400 words. [20]
a) Explain the impact of western thinkers on Gandhi.
b) Critically evaluate, Gandhiji’s Doctrine of Sarvodaya.



P.T.O.
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Total No. of Questions : 4]

[5808]-224
First Year B.A.

GANDHIAN THOUGHT
 G2 : Major Aspects of Gandhian Thought

(2019 CBCS Pattern) (Semester - II) (11232)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nmhmdr.

P4086

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao 50 eãXm§V {bhm. [15]
A) Jm§YrOrMr Y‘© g§H$ënZm ñnï> H$am.
~) Jm§YrOrZm AZwgê$Z "Aqhgm' g§H$ënZm gm§Jm.
H$) gmYZ ey{MVm hr g§H$ënZm ñnï> H$am.
S>) Jm§YrOrMr {ZîH$m‘H$‘©¶moJ g§H$ënZm WmoS>³¶mV gm§Jm.
B) "OmV … ^maVr¶ g‘mO ì¶dñWoVrb Ym|S>' Jm§YtZm AZwgê$Z gm§Jm.

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr VrZda 50 eãXm§V {Q>nm {bhm. [15]
A) Jm§YrOrMo gË¶{df¶H$ {dMma
~) gd©-Y‘©-g‘^md
H$) gmÜ¶ g§H$ënZm
S>) dU© ì¶dñWm
B) l‘ à{Vð>m

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao 200 eãXm§V {bhm. [20]
A) Jm§YrOrdarb Cn{ZfX d ^JdXJrVoMm à^md ñnï> H$am.
~) Jm§YrOrMm EH$mXed«V hm Z¡{VH$ {dMma g{dñVa {deX H$am.
H$) Jm§YrOrMr "AmXe© amÁ¶' g§H$ënZm g{dñVa {deX H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 400 eãXm§V {bhm. [20]
A) Jm§YrOrda nS>boë¶m nmíMmË¶ {dMmad§Vm§Mm à^md ñnï> H$am.
~) Jm§YrOrÀ¶m gdm}X¶ g§H$ënZoMo {M{H$ËgH$ ‘yë¶‘mnZ H$am.





Total No. of Questions : 4]

[5808]-225

F.Y.B.A.
YOGA  VIDYA GENERAL - II

(2019 Pattern) (Semester - II)  (11242)

Time : 2½ Hours] [Max. Marks : 50

Instructions to the candidates:

1) All questions must be resolved.
2) Figures to the right indicate full marks.

P4087 [Total No. of Pages : 2

SEAT No. :

Q1) Answer any of the following five questions in one sentence. [5]
a) Where is Kaivalyadham the Yoga research center?

b) What is the basic text of Yoga?

c) Name any two body enhancement Asanas?

d) What is the health promotion of observance Yama-Niyam?

e) What is the ultimate goal of Yoga?

f) What is World Yoga Day celebrated?

g) What are the health benefits of practicing pranayama?

Q2) Write the short note (any two) [10]
a) Ahinsa.

b) Suchita.

c) Meditation.

Q3) Answer any two of the following questions in 150 words. [20]
a) Explain the different interpretations and importance of Yoga.

b) Explain the types and importance of Pranayam.

c) Explain the importance of Karma Yoga and Dnyan Yoga.

Q4) Answer any one of the following questions in detail. [15]
a) State the goals, objectives and importance of Yoga?

b) Explain the basics of Asanas?


P.T.O.
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Total No. of Questions : 4]

[5808]-225

F.Y.B.A.
YOGA  VIDYA GENERAL - II

(2019 Pattern) (Semester - II)  (11242)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.
2) COì`m ~mOyMo A§H$ nyU© JwU Xe©{dVmV.

P4087

à.à.à.à.à.1) Imbrbn¡H$s H$moUË`mhr nmM àíZm§Mr EH$m dmŠ`mV CÎmao Úm. [5]

A) "H¡$dë`Ym_' ho `moJ g§emoYZ H|$Ð H$moR>o Amho.
~) `moJemómMm AmYma ŷV J«§W H$moUVm?
H$) XmoZ earag§dY©ZmË_H$ AmgZm§Mr Zmdo gm§Jm.
S>) `_-{Z`_ nmbZmZo H$moUVo Aamo½` g§dY©Z hmoVo.
B) `moJemómMo A§{V_ Ü ò̀  H$moUVo?
\$) OmJVrH$ `moJ {XZ H|$ìhm gmOam Ho$bm OmVmo.
`) àmUm`m_mÀ`m Aä`mgmZo H$moUVo Aamo½` g§dY©Z hmoVo.

à.à.à.à.à.2) {Q>nm Úm. (H$moUË`mhr XmoZ) [10]

A) Aqhgm
~) gy{MVm
H$) Ü`mZ

à.à.à.à.à.3) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr 150 eãXm§V CÎmao Úm. [20]

A) `moJemómÀ`m {d{dY ì`m»`m d _hËd gm§Jm.
~) àmUm`m_mMo àH$ma d Cn`moJ gm§Jm.
H$) kmZ`moJ d H$_©̀ moJ _hËd gm§Jm.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË`mhr EH$m àíZm§Mo g{dñVa CÎma Úm. [15]

A) `moJemómMo Ü ò̀ , C{Ôï>o d _hËd gm§Jm.
~) AmgZm§Mo _wbVËdo ñnï> H$am.





Total No. of Questions : 4]

[5808]-226
F.Y. B.A.

HISTORY OF CIVILIZATION
Indian Civilization and Heritage - II

(General Paper - I)
(2019 Pattern) (Semester - II) (11252) (CBCS)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4088 [Total No. of Pages : 4

SEAT No. :

Q1) Answer the following questions in 300 words (any one) : [15]

a) Explain the achievements of Bhakti Movements.

OR

b) Describe the architecture in Ancient Indian culture.

Q2) Answer the following question in 300 words (any one) : [15]

a) Explain the Gandhar School of Arts.

OR

b) Write information about Indian Dance Arts.

P.T.O.
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Q3) Answer the following question in 200 words (any two) [20]

a) Write how Hindi Language is developed?

b) Write importance of Arts in Indian culture.

c) Write the information of Mathura School of Arts.

d) Describe the regional Architecture style in the Medieval Architecture.

Q4) Write short notes (any four) : [20]

a) Indian Script

b) Amaravati School of Arts

c) Satish Grover

d) Folk Music

e) Bharatanatyan

f) Indian Folk Drama.


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Total No. of Questions : 4]

[5808]-226
F.Y. B.A.

HISTORY OF CIVILIZATION
Indian Civilization and Heritage - II

(General Paper - I)
(2019 Pattern) (Semester - II) (11252) (CBCS)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P4088

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao àË¶oH$s 300 eãXmV {bhm. (H$moUVmhr EH$) [15]

A) ^º$s MidirMr H$m‘{Jar ñnï> H$am.

qH$dm

~) àmMrZ ^maVr¶ g§ñH¥$VrVrb ñWmnË¶ {dfX H$am.

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao àË¶oH$s 300 eãXmV {bhm. (H$moUVmhr EH$) [15]

A) Jm§Yma H$bme¡br ñnï> H$am.

qH$dm

~) ^maVr¶ Z¥Ë¶H$bo~X²Xb ‘m{hVr {bhm.
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à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao àË¶oH$s 200 eãXmV {bhm. (H$moUVohr XmoZ) [20]

A) qhXr ^mfoMm {dH$mg H$gm Pmbm Vo {bhm.

~) ^maVr¶ g§ñH¥$VrVrb H$boMo ‘hÎd {bhm.

H$) ‘Wwam H$bme¡br~X²Xb ‘m{hVr {bhm.

S>) ‘Ü¶¶wJrZ ñWmnË¶e¡brVrb àm§VrH$ e¡br ñnï> H$am.

à.à.à.à.à.4) {Q>nm {bhm. (H$moUVohr Mma) [20]

A) ^maVr¶ {bnr

~) A‘amdVr H$bme¡br

H$) g{Ve J«moda

S>) bmoH$g§JrV

B) ^aVZmQ>¶‘²

’$) ^maVr¶ bmoH$ZmQ>¶o





Total No. of Questions : 4]

[5808]-227
F.Y. B.A.

HOME ECONOMICS
G - 1 : Household and General Economics - II
(CBCS 2019 Pattern) (Semester - II) (11262)

Time : 2½ Hours]    [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Diagrams must be drawn wherever necessary.
3) Figures to the right indicate full marks.

P6378 [Total No. of Pages : 4

SEAT No. :

Q1) Answer the following questions in 20 words each (any eight) [16]

a) Define home management.

b) Explain the concept human values.

c) What is human goals?

d) What is house decoration?

e) What is house planning?

f) Explain the meaning interior house decoration.

g) What is meaning by lower income group?

h) What is meaning by high income group?

i) Explain the meaning exterior house decoration.

j) Define decision making.

Q2) Answer the following questions in 50 words each (any four) [16]

a) What are the factors affecting on decision making?

b) Explain the feature of home management.

c) Explain the nature of decoration.

d) Explain the nature and scope of home management.

e) Give the types of the human goals.

f) Explain the demerits of decision-making.

P.T.O.
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Q3) Answer the following questions in 150 words each (any three) [18]

a) Explain the importance of home management.

b) Explain the types of human values.

c) Explain the nature and scope of decision-making.

d) Explain the merits of decision-making.

Q4) Answer the following questions in 300 words each (any two) [20]

a) Explain the process of decision making with suitable example.

b) Explain the elements of interior and exterior home decoration.

c) Explain the stages in home management.


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Total No. of Questions : 4]

[5808]-227
F.Y. B.A.

HOME ECONOMICS
G - 1 : Household and General Economics - II
(CBCS 2019 Pattern) (Semester - II) (11262)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.
2) Amdí`H$ VoWo gw~H$ AmH¥$Ë`m H$mT>m.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r B§J«Or àíZn{ÌH$m nhmdr.

P6378

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao àË òH$s 20 eãXmV {bhm. (H$moUVohr AmR>) [16]

A) J¥h ì`dñWmnUm ì`m»`m Xçm.

~) _mZdr _yë`mMr g§H$ënZm ñnï> H$am.

H$) _mZdr Ü ò̀  åhUOo H$m`?

S>) J¥hgOmdQ> åhUOo H$m`?

B) J¥h {Z`moOZ åhUOo H$m`?

\$) A§VJ©V J¥hgOmdQ> AW© ñnï> H$am.

`) H$_r CËnÞ JQ> åhUOo H$m`?

a) Cƒ CËnÞ JQ> åhUOo H$m`?

b) ~{hJ©V J¥hgOmdQ> AW© ñnï> H$am.

d) {ZU©̀  à{H«$ òMr ì`m»`m Xçm.

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao àË òH$s 50 eãXmV {bhm. (H$moUVohr Mma) [16]

A) {ZU©̀  à{H«$ òda n[aUm_ KQ>H$ H$moUVo?

~) J¥h ì`dñWmnUmMr d¡{eîQ>ço ñnï> H$am.

H$) J¥hgOmdQ>rMo ñdê$n ñnï> H$am.

S>) J¥h ì`dñWmnUmMr ñdê$n d ì`már ñnï> H$am.

B) _mZdr Ü ò̀ mMo àH$ma gm§Jm.

\$) {ZU©̀  à{H«$ òMo Xmof ñnï> H$am.
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à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao àË òH$s 150 eãXmV {bhm. (H$moUVohr VrZ) [18]

A) J¥h ì`dñWmnUmMo _hËd ñnï> H$am.

~) _mZdr _yë`mMo àH$ma ñnï> H$am.

H$) J¥h {ZU©̀  à{H«$ òMo ñdê$n d ì`már ñnï> H$am.

S>) {ZU©̀  à{H«$ òMo JwU ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr CÎmao àË òH$s 300 eãXmV {bhm. (H$moUVohr XmoZ) [20]

A) {ZU©̀  à{H«$ òÀ`m à{H«$`mMo gmoXmhaU ñnï> H$am.

~) A§VJ©V J¥hgOmdQ> Am{U ~{hJ©V J¥hgOmdQ>rÀ`m KQ>H$m§Mo ñnï>rH$aU H$am.

H$) J¥h ì`dñWmnUmMo Q>ßno ñnï> H$am.





Total No. of Questions : 4]

[5808]-228
F.Y. B.A.

DEFENCE AND STRATEGIC STUDIES
DS 201 : India’s National Security

(CBCS) (2019 Pattern) (Semester - II) (11272)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4089 [Total No. of Pages : 4

SEAT No. :

Q1) Answer the following questions in 100 words each (any three) : [3×5=15]

a) Explain the meaning and concept of national security.

b) State the types of terrorism.

c) Which are the external threats of India?

d) Write the non conventional threats to India’s national security.

e) Explain the strategic importance of the Indian Ocean.

Q2) Answer the following questions in 300 words each (any one) [1×15=15]

a) Explain in detail socio-cultural, Economic and political dimension of
India’s national security.

b) Explain in detail Kashmir as an internal security problem.

P.T.O.
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Q3) Answer the following questions in 200 words each (any two) [2×10=20]

a) Explain the concept of collective security.

b) Explain the concept of regional security.

c) State the concept of counter insurgency.

d) Write the ethnic problem in Sri Lanka.

Q4) Write short notes (any four) : [4×5=20]

a) Defence

b) Security

c) External security

d) Counter Terrorism

e) Energy as a security threats

f) Maritime security


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Total No. of Questions : 4]

[5808]-228
F.Y. B.A.

DEFENCE AND STRATEGIC STUDIES
DS 201 : India’s National Security

(CBCS) (2019 Pattern) (Semester - II) (11272)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P4089

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao àË¶oH$s 100 eãXmV {bhm. (H$moUVohr VrZ) [3×5=15]

A) amï´>r¶ gwajoMm AW© Am{U g§H$ënZm ñnï> H$am.

~) XheVdmXmMo àH$ma gm§Jm.

H$) ^maVmMo ~{hJ©V gwajm YmoHo$ H$moUVo AmhoV?

S>) ^maVmÀ¶m amï´>r¶ gwajobm Agbobo Anma§nm[aH$ YmoHo$ {bhm.

B) qhXr ‘hmgmJamMo gm‘[aH$ ‘hÎd ñnï> H$am.

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao àË¶oH$s 300 eãXmV {bhm. (H$moUVohr EH$) [1×15=15]

A) ^maVmÀ¶m amï´>r¶ gwajoMo gm‘m{OH$, gm§ñH¥${VH$, Am{W©H$ Am{U amOH$s¶ n¡by g{dñVa ñnï> H$am.

~) "H$mí‘ra A§VJ©V gwajm g‘ñ¶m' g{dñVa ñnï> H$am.
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à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao àË¶oH$s 200 eãXmV {bhm. (H$moUVohr XmoZ) [2×10=20]

A) gm‘y{hH$ gwajm g§H$ënZm ñnï> H$am.

~) àmXo{eH$ gwajm g§H$ënZm ñnï> H$am.

H$) à{V {dßbdmMr g§H$ënZm gm§Jm.

S>) lrb§Ho$Vrb dm§{eH$ g§Kf© {bhm.

à.à.à.à.à.4) {Q>nm {bhm. (H$moUVohr Mma) [4×5=20]

A) g§ajU

~) gwajm

H$) ~{hJ©V gwajm

S>) à{V XheVdmX

B) D$Om© EH$ gwajm g‘ñ¶m

’$) gmJar gwajm


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Total No. of Questions : 8]

[5808]-229
F.Y. B.A.

COMMERCE
G - 1 : Fundamentals of Accounting

(2019 Pattern) (CBCS) (Semester - II) (11292)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) Question 1 and 8 is compulsory
2) Attempt any three questions from Question 2 to Question 7.
3) Figures to the right indicate full marks.
4) Use of calculator is allowed.

P6379 [Total No. of Pages : 4

SEAT No. :

Q1) A) Fill in the blanks using appropriate words from the options. [5]

a) Real Account always shows______balance.

i) Debit ii) Credit

iii) Maximum iv) None of the above

b) _____column of ledger is used for writing page number of journal.

i) LF ii) JF

iii) Date iv) None of the above

c) Radhe’s Account is a type of ______Account.

i) Nominal ii) Real

iii) Personal iv) None of the above

d) Brief explanation of entry is called as______.

i) Folio ii) Narration

iii) Posting iv) None of the above

e) Surplus of income over expenses is_______.

i) Profit ii) Loss

iii) Deficit iv) None of the above

P.T.O.



2[5808]-229

B) State if the following statements are True or False. [5]

a) Bank Loan Account is a Nominal Account.

b) Book Keeping is Useful to find out all Tax Liabilities.

c) Bank overdraft is an asset of the business.

d) Goodwill account is a real account.

e) Narration is not required for each and every entry.

C) Answer in one sentence only. [5]

a) Who is a debtor?

b) Give the meaning of Real Account.

c) What is Book Keeping?

d) What is Goods?

e) Who is a creditor?

D) Match the following pairs. [5]

1) Smita’s Account a) Real Account

2) Machinery Account b) Assets and Liabilities

3) Commision Account c) Personal Account

4) Capital Account d) Irrecoverable debts from
customers

5) Bad Debts e) Nominal Account

Q2) Journalize the following transactions in the books of Sankalp General Stores.
[14]

  2019 July

1 Started business with cash Rs.1,00,000

2 Purchase goods from Kareena on cash Rs. 10,000

8 Sold goods to Priyanka Rs. 20,000

10 Deposited in SBI Rs. 30,000

15 Paid for rent Rs. 4,000

20 Sold goods for cash Rs. 5,000

25 Paid for salary Rs. 3,000
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Q3) Define the term Book keeping and state its importance. [14]

Q4) Classify the following accounts under Personal, Real and Nominal. [14]
a) Expenses account

b) Computer account

c) Discount account

d) Bank account

e) Rent account

f) Audit fees account

g) Plant and machinery account

h) Kavita account

i) Capital account

j) Commission account

k) Loan account

l) Motor car account

m) Building account

n) Radhika account

Q5) What is discount? Give the difference between cash discount and trade
discount. [14]

Q6) Classify the following accounts into income and expenditure account. [14]
a) Interest received

b) Rent Paid

c) Printing and Stationery

d) Carriage

e) Electricity bill

f) Discount allowed

g) Bad debt

h) Salary

i) Repairs

j) Audit fees

k) Commission paid

l) Discount received

m) Dividend received

n) Insurance paid
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Q7) Explain in details with example types of Accounts and its importance. [14]

Q8) Write short notes on any two. [8]

a) Objectives of book keeping.

b) Explain the term capital and drawing.

c) Debit note.

d) Golden rules of accounting.





Q1) Answer the following questions in 50 words each (Any Three) : [15]

a) Explain the merits of experimental method.

b) Write the objectives of primary education.

c) Write the importance of pre primary education.

d) Explain the scope of education psychology.

e) Explain the meaning of mass communication media.

Q2) Answer the following questions in 100 words each (Any Two) : [20]

a) Explain the role of Radio in education.

b) What are the merits and limitations of observation method?

c) Write the education work of Anutai wagh.

d) Explain an objectives of pre primary education.

Q3) Answer any one question in 300 words : [20]

a) What are the problems in primary education? Suggest remedies to
overcome these.

b) Explain the role of T.V. in education in details.

Total No. of Questions : 4]

[Total No. of Pages : 4

[5808]-230
F.Y. B.A. (Semester - II)

EDUCATION
Fundamentals of Education - II

(2019 Pattern) (11302)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4090

SEAT No. :

P.T.O.
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Q4) Write short notes in 50 words each (Any Three) : [15]

a) Limitations of Introspection method.

b) Education importance of press.

c) Mass communication media.

d) Nature of primary education.

e) Education importance of Internet.





Total No. of Questions: 4]

[5808]-230
F.Y. B.A. (Semester - II)

EDUCATION
Fundamentals of Education - II

({ejUmMr _ybVËdo - II)
(2019 Pattern)  (11302)

(_amR>r ê$nm§Va)
doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm:

1) gd© àíZ gmoS>{dUo A{Zdm ©̀ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P4090

àíZ àíZ àíZ àíZ àíZ 1) 50 eãXm§V CÎmao {bhm (H$moUVohr VrZ) … [15]

A) àm`mo{JH$ nÕVrMo \$m`Xo ñnï> H$am.

~) àmW{_H$ {ejUmMr C{X²Xï>o {bhm.

H$) nyd© àmW{_H$ {ejUmMo _hËd {bhm.

S>) e¡j{UH$ _mZgemómMr ì`már ñnï> H$am.

B) g_yh g§nH©$ gmYZm§Mm AW© ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 2) 100 eãXm§V CÎmao {bhm (H$moUVohr XmoZ) … [20]

A) AmH$medmUrMr {ejUmVrb ŷ{_H$m ñnï> H$am.

~) {ZarjU nÕVrMo \$m`Xo d _`m©Xm H$moUË`m?

H$) AZwVmB© dmK `m§Mo e¡j{UH$ H$m ©̀ {bhm.

S>) nyd© àmW{_H$ {ejUmMr C{X²Xï>o ñnï> H$am.

3
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àíZ àíZ àíZ àíZ àíZ 3) 300 eãXm§V CÎmao {bhm (H$moUVmhr EH$) … [20]

A) àmW{_H$ {ejUmVrb g_ñ`m H$moUË`m? Ë`m Xÿa H$aÊ`mgmR>r Cnm` gyMdm.

~) XÿaXe©ZMr {ejUmVrb ŷ{_H$m g{dñVa ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) 50 eãXm§V {Q>nm {bhm (H$moUVohr VrZ) … [15]

A) AmË_{ZarjU nÕVrÀ`m _`m©Xm

~) dV©_mZnÌm§Mo e¡j{UH$ _hËd

H$) g_yh g§nH©$ _mÜ`_o

S>) àmW{_H$ {ejUmMo ñdén

B) B§Q>aZoQ>Mo e¡j{UH$ _hËd





Total No. of Questions : 4]
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[5808]-231
F.Y. B.A.

MATHEMATICS
FMG - II : Financial Mathematics - II
(2019 Pattern) (Semester - II) (15114)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4091

Q1) Attempt any five of the following : [10]

a) Find the transpose of 
3 9 8

B=
4 2 7
 
 
 

.

b) Find the A – B, where 
4 9

A =
2 6
 
 
 

 & 
1 5

B=
7 4
 
 
 

.

c) Find the determinant of A, where 6 4
A =

7 9
 
 
 

.

d) Evaluate 2x dx .

e) Evaluate 2 ; (3) 11y dx y  .

f) Evaluate 
6

0

5x dx .

g) Evaluate 
10

2

0

2 xe dx .

SEAT No. :

P.T.O.
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Q2) Attempt any four of the following : [20]

a) Given a principal P of $1000 at 6 percent interest i for 3 years. Find the
future value S when the principal compounded

i) Annually.

ii) Semiannually.

b) Define the following :

i) Idempotent Matrix.

ii) Symmetric Matrix.

c) State commutative, associative and distributive laws in Matrix Algebra.

d) Explain Consumer’s Surplus and Producer’s Surplus.

e) Find inverse of 
3 1

A
2 1
 

  
 

.

f) Evaluate   56 11x dx .

Q3) Attempt any four of the following : [20]

a) Find A + 2B, where

8 9 7
A = 3 6 2

4 5 10

 
 
 
  

 and 
1 3 6

B= 5 2 4
7 9 2

 
 
 
  

 .

b) Given a21 = 4, a32 = 5, a13 = 3, a23 = 6, a12 = 10 and  a31 = –5. Complete
the following matrix.

6
A= 7

9

  
   
   

. Also find A + 2I.
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c) State the formula for Cij and find C11, C12 for the matrix 
8 3 2

A= 6 4 7
5 1 3

 
 
 
  

.

d) Evaluate  33 1x x dx  .

e) The rate of net investment is given by I (t) = 140 t3/4 and the initial stock
of capital at t = 0 is 150. Find capital function k.

f) Evaluate 
3

2
0

6
1

xdx
x  .

Q4) Attempt any two of the following : [20]

a) Show that AB BA , where 
3 6 7

A =
12 9 11
 
 
 

 and 
6 12

B= 5 10
13 2

 
 
 
  

  Is

A2 & B2 exists? Justify.

b) Evaluate the following.

i)
2xxe dx .

ii) 2 410 ( 3)x x dx .

c) Evaluate 
3

2
2

3
( 1)

xdx
x .


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[Total No. of Pages : 4

[5808]-232
F.Y. B.A.

MATHEMATICAL STATISTICS
13272 : Discrete Probability Distributions

(2019 Pattern) (CBCS) (Semester - II)
Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates :

1) All questions are compulsory.
2) Figures to the right, indicate full marks.
3) Use of statistical tables and calculators are allowed.
4) Symbols and their usual meaning.

P4092

Q1) Attempt the following :
a) Choose the correct alternative from the following : [1 each]

i) If X  Poisson (m) then
a) mean = variance b) mean > variance

c) mean < variance d) mean = variance
ii) If X and Y are two independent discrete r.v.s. then Cov(X, Y) is

a) one b) zero
c) negative d) not exist

iii) If X follows Poisson distribution with parameter m = 3.8 then mode
of X is :
a) 4 b) 3
c) 3.8 d) 0.8

iv) If X follows Geometric distribution over positive integer values with
p = 0.4 then mean of X is :
a) 4 b) 2
c) 2.5 d) 10

v) If Cov(X, Y) = 15 then Cov(3X, 2Y) = _______.
a) 20 b) 90
c) 30 d) 45

SEAT No. :

P.T.O.
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b) State whether the following statements are true are false : [1 each]
i) Additive property holds true for Geometric distribution.
ii) For two random variables X and Y : Var(X – Y) = Var(X) + Var(Y)

– 2Cov(X, Y).
iii) Poisson distribution is always unimodal.
iv) If Cov(X, Y) = 0 then X and Y are independent.
v) Correlation coefficient depends on origin but not scale.

Q2) Attempt any four of the following : [4 × 5 = 20]
a) A personal officer knows that 25% of the applicants for a certain position

are suitable for a job. What is the probability that the fourth person
interviewed will be the first one suitable for job?

b) For two discrete random variables X and Y prove that E(X+Y) = E(X)+E(Y).
c) State the p.m.f. of Poisson distribution with parameter 'm'. Obtain the

m.g.f. of it.
d) For two discrete random variables X and Y.

Var(X) = Var(Y) = 2, Cov(X, Y) = 
1
2

Find

i) Var(4X – 3Y) ii) Corr 
X 5 Y 6,

2 3
æ ö- - ÷ç ÷ç ÷çè ø

e) If X1 and X2 are independent Poisson random variables with parameters
m1 and m2 respectively. Derive the conditional distribution of
X1 / (X1 + X2 = n), Where n is a non-negative integer.

f) State and prove the lack of memory property of Geometric distribution.

Q3) Attempt any four of the following : [4 × 5 = 20]

a) Let X  Poisson(m) such that P(X = 2) = 
3
4

 P(X = 1).

Find :
i) P(X = 0) and ii) most probable value of X
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b) Define geometric distribution with parameter 'p'. Also, find its mean.

c) Show that all cumulants of Poisson distribution are equal to parameter
'm'. Hence comment on nature of distribution.

d) Obtain the joint probability distribution of two independent r.v.s. with
their marginal distribution as given below :

X -1 1 Y 0 1 2

P[X = x] .3 0.7 P[Y = y] 0.2 0.6 0.2

e) Obtain the recurrence relation for successive probabilities of Poisson
distribution. Also, state its uses.

f) Show that the Poisson distribution can be derived as a limiting case of
binomial distribution.

Q4) Attempt any two of the following : [2 × 10 = 20]

a) i) If X and Y are two discrete random variables with variances 2
xs  and

2
ys  respectively. Let is the Karl Pearson's coefficient of correlation

between X and Y. With usual notations, show that : [8]

2 2 2 2Var( ) 2x y x yax by a b abs s rs s+ = + +

ii) Define marginal distributions of bivariate discrete random variables.[2]

b) The joint p.m.f. of a bivariate random variable (X, Y) is given below :[10]

Y 0 1 2

X

0 2/7 8/21 1/21

1 3/21 2/21 1/21

i) Find the marginal p.m.f of X and Y.

ii) Find Cov(X, Y), are X, Y uncorrelated?
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c) i) Let X and Y are independent Poisson random variables with mean 3
and 4 respectively. [5]

Find :

I) P(X = 5 / X + Y = 7) II) E(X / X + Y = 7)

ii) State and prove additive property of Poisson random variables.[5]

d) i) Verify independence of bivariate discrete r.v.s. whose joint probability
distribution is given below : [5]

Y 1 2

X

-1 .18 .42

1 .12 .28

ii) Define expectation of function of bivariate random variables. By
stating condition, prove that : E[X * Y] = E [X] * E[Y]. [5]


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[5808]-233
F.Y. B.A.

OPTIONAL ENGLISH - II
Text Initiations: Minor Literary Forms and Basics of Phonology

(2019 Pattern) (CBCS) (Semester - II) (General Paper - I) (11332)
Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4093

Q1) a) Attempt any one of the following questions : [7]

i) How does Katherine Mansfield show that Kelveys are different from
other families?

ii) Explain the central theme of the story ‘The Doll’s House’.

b) Attempt any one of the following questions : [7]

i) Describe the narrator’s opinions on robbing various people as
presented in ‘The Thief’.

ii) Comment on the title of the short story ‘The Thief’.

Q2) Attempt any two of the following questions : [14]

a) Comment on the significance of the title of the poem ‘I Remember,
I Remember’.

b) Explain ‘Where the Mind is without Fear’ as a prayer for India.

c) Explain ‘The Mountain and the Squirrel’ as a reflection and meditation
upon life.

d) How does Christina Rossetti compare life to a painful journey in the
poem ‘Up-Hill’.

P.T.O.

SEAT No. :
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Q3) Attempt any two of the following with reference to the context : [14]

a) I remember, I remember
The Fir-trees dark and high.

b) Where the mind is led forward by
thee into ever-widening
thought and action.

c) You are not so small as I,
And not half so spry.

d) Will the day’s journey take the
whole long day?
From morn to night, my friend.

Q4) a) Attempt any one of the following questions : [7]

i) Comment on the supernatural elements in the play ‘The Monkey’s
Paw’.

ii) How does William Jacob narrate the suffering and loss caused by
‘The Monkey’s Paw’?

b) Attempt any one of the following questions : [7]

i) Attempt a character sketch of Svietlovidoff.

ii) How does ‘The Swan Song’ describe the Pathos of growing old?

Q5) a) Write short notes on any two of the following : [10]

i) General American English.

ii) Monosyllabic and Polysyllabic words.

iii) Different standards of pronunciation.

iv) The concept of Stress.
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b) Fill in the blanks with an appropriate word given in the brackets (any
four) : [4]

i) The next higher unit after phoneme is _____. (word/syllable)

ii) Some syllables may not have a _____ element. (vowel/consonant)

iii) The word ‘gate’ has _____ syllable  in it. (one/two)

iv) The word ‘freedom’ has _____ syllables in it. (three/two)

v) The word ‘fix’ has _____ phonemes in it. (three/four)

vi) The word ‘sing’ has _____ phonemes in it. (three/four)

.


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F.Y. B.A.

15115 : MATHEMATICS
MG-2 : Analytical Geometry

(CBCS 2019 Pattern) (Semester - II) (General-II)

Time : 2½ Hours]    [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to right indicate full marks.

P4094 [Total No. of Pages : 3
SEAT No. :

Q1) Attempt any FIVE of the following: [10]

a) Show that it is not possible to draw a line which will make an angle of
30° with the X-axis and 45° with the Z-axis.

b) Find the center of the conic 2 27 8 14 8 2 0.x xy y x y     

c) Find the equation of the planes whose intercepts on the co-ordinate axes

are 
4 1 3, ,
5 2 5


.

d) Find the direction cosines of the line whose direction ratios are 3, 2, –4.

e) Find the angle between pair of planes 2 2 3;3 6 2 4.x y z x y z     

f) Find the equations of the line passing through (2, –3, 5) and whose drs
are 1, –2, 2.

g) Find the equation of the sphere whose centre is (1, –2, 3) and radius is 6.

Q2) Attempt any Four of the following: [20]

a) If l, m, n are the direction cosines of any line, then prove that
2 2 2 1l m n   .

b) Show that the equation of a plane passing through the point  1 1 1A , ,x y z  and

direction ratios of its normal are  a, b, c  is      1 1 1x b y c z 0.x y z     

P.T.O.
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c) Show that the equations of the line passing through two points  1 1 1A , ,x y z

and  2 2 2B , ,x y z  is 1 1 1

2 1 2 1 2 1

.x x y y z z
x x y y z z
  

 
  

d) Prove that the equation of a sphere with segment AB as a diameter,
where  1 1 1A , ,x y z  and  2 2 2B , ,x y z  is

        1 2 1 2 1 2x x y y z z 0.x x y y z z        

e) Find what the equation 2 3 2 2 0x xy x y      become when the origin
is transferred to the point (2, 1), the directions of axes remaining the
same.

f) Find the equation of the plane through A(2, 2, –1), B(3, 4, 2), C(7, 0, 6).

Q3) Answer any Four of the following: [20]

a) Find the equation of the plane passing through the line of intersection of
the planes x + y + z = 6 and 2x + 3y + 4z + 5 = 0 and the point (1, 1, 1).

b) Find the equation to the plane through the point (0, 6, 0) and through the

line 2 3 4.
2 3 2

x y z  
 



c) Find where the line 1 2 3
2 3 4

x y z  
 


 meets with the plane

2 4 1 0.x y z   

d) Find symmetrical form of the equation of the line 3 1 0,x y z   

5 3 0.x y z  

e) Find the angle between the line 3 2 1 0 2 2 5x y z x y z         and
the plane 11 1.x y z  

f) Obtain the equation of the smallest sphere passing through A (2, 1, –1)
and B (1, 3, 0).
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Q4) Answer any Two of the following. [20]

a) Prove that every equation of first degree in x, y, z represents a plane.

b) Show that the lines 
3 5 7 ,

2 3 3
x y z  

 


 
1 1 1

4 5 1
x y z  

 


 are

coplanar and find the equation of plane containing them.

c) Find the equation of the sphere passing through the points (3, 0, 2),
(–1, 1, 1), (2, –5, 4) and having centre on the plane 2 3 4 6.x y z  

 
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Total No. of Questions : 4]

[5808]-235
F.Y. B.A.

STATISTICAL PRE-REQUISITES
ST - 13572 :  Descriptive Statistics - II
 (CBCS 2019 Pattern) (Semester - II)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of Scientific calculator and statistical table is allowed.
4) Symbols and abbreviations have their usual meaning.

P4095 [Total No. of Pages : 3
SEAT No. :

Q1) Attempt each of the following:
A) Choose the correct alternative of the following: [1 each]

 i) If Corr (X, Y) = 0.5 then Corr (X+2, 2–Y) is
a) – 0.5 b) 0.5
c) 1 d) – 1

ii) If the correlation coefficient r = 0, then the regression lines _____
a) Are parallel to each other
b) Are coincident
c) Are prependicular to each other
d) Do not exist

iii) Base year of index number is
a) Any convenient year b) Preceding year
c) Succeeding year d) Year of stability

iv) The number of Letters used to denote a class is called as ______.
a) Manifold class b) Dichotomous class
c) Order of class d) Frequency of class

v) Anttribute is a ______
a) Quantitative characteristics

b) Qualitative characteristics

c) Both (a) and (b)

d) Neither (a) nor (b)

P.T.O.
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(B) State whether the following statement is True or False. [1 each]
i) If X and Y are independent then, Var(X-Y) = Var (X) + Var (Y)
ii) If coefficient of association Q = 1, then two attributes are completely

associated.
iii) If X and Y are uncorrelated then they are independent.

iv) If x y  then bxy = byx.

v) Cov (X, X) = Var (X)

Q2) Attempt any Four of the following: [4×5=20]

a) Define the term correlation. Explain the concept of positive and negative
correlation with examples.

b) Discuss the effect of change of origin and scale on variance.

c) Obtain Spearman’s rank correlation coefficient between X and Y, given
that:

X 1 2 3 4 5

Y 5 4 3 2 1

d) Examine whether the following data are consistent:

       AB 10, A 15, B 12, 6    .

e) Describe the stepwise procedure of fitting the curve Y X .ba
f) If A and B are two independent attributes then show that A and   are

also independent.

Q3) Attempt any Four of the following: [4×5=20]
a) The regression equations are 4 19y x   and 9 39x y  . Find

i) Estimate X when Y = 6.
ii) Correlation coefficient between x and y.

b) State the situations where regression analysis is used.
c) Explain why index numbers are called as economic barometers.
d) State merits and demerits of scatter diagram as a measure of correlation.
e) Explain the various uses of cost of living index number.
f) Define regression coefficients and state any three properties.
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Q4) Attempt any Two of the following: [2×10=20]

a) Explain the method of ‘base shifting’. State the situation under which
base shifting is essential.

b) Given the following data:

Commodity  p0 q0 p1 q1

A X 8 3  4

B 2 6 6 2

Find the missing price if ratio of Laspeyre’s price index  to Paasche’s
price index is 15:14.

c) The scores obtained by 7 candidates in drawing (X) and in music (Y) are
given below:

Candidate A B C D E F G

X 24 29 19 14 30 19 27

Y 37 35 16 16 23 27 16

Compute Spearman’s rank correlation coefficient between X and Y.

d) The profit (in lakhs. of Rs.) earned by company in Xth year is tabulated
below:

Year 2001 2002 2003 2004 2005
(X)
Profit

15 21 30 35 40
(Y)

Fit a second degree curve, 2.y a bx cx    Also estimate profit in 10th year.

 
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F. Y. B.A.

PROPOSITIONAL LOGIC
G1 : Logic and Principles of Reasoning

(2019 Pattern) (CBCS) (Semester - II) (11362)

 Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4096 [Total No. of Pages : 4

SEAT No. :

Q1) Answer any three of the following question in 50 words: [15]

a) What is symbolic logic?

b) Explain the method of decision procedure.

c) Describe simple proposition.

d) Explain implicative proposition.

e) Explain concept of Deductive proof.

Q2) Write short note on any three of the following in 50 words. [15]

a) Induction

b) Compound proposition

c) Basic truth table of conjunction

d) Propositional constants

e) Tautology

Q3) Answer two of the following questions in 200 words. [20]

a) Explain with rules of basic truth-table of implication and Disjunction.

b) What is conditional proof? Explain it with appropriate example.

P.T.O.
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c) Symbolize the following propositions (only five) :

i) Ram and Shyam both are friends (R, S)

ii) Line is straight or circular. (S, C)

iii) If you study then you will be passing. (S, P)

iv) If I get job then I will be survived. (J, S)

v) It is not true that I am fail. (F)

vi) She is not reading and writing. (R, W)

vi) If he is politician then and then only he will not be actor. (P, A)

Q4) Answer any one of the following questions in 400 words. [20]

a) What is Modem classification of Propositions? Explain types of it.

b) What is invalidity? Explain its procedure in detail.


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Total No. of Questions : 4]

[5808]-236
F. Y. B.A.

PROPOSITIONAL LOGIC
G1 : Logic and Principles of Reasoning

(2019 Pattern) (CBCS) (Semester - II) (11362)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ EHy$U JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àíZnÌrH$m nhmdr.

P4096

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao 50 eãXm§V {bhm. [15]

A) àVrH$mË‘H$/gm§Ho${VH$ VH©$emñÌ åhUOo H$m¶?

~) {ZU©¶ nÕVr ñnï> H$am.

H$) gab {dYmZ ñnï> H$am.

S>) ì¶§OZ {dYmZmMr aMZm {deX H$am.

B) {ZJ‘Z {gÕVoMr g§H$ënZm ñnï> H$am.

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr VrZ Q>rnm 50 eãXmV {bhm. [15]

A) {dJ‘Z

~) g§¶wº$ {dYmZ

H$) g§Yr {dYmZmMo ‘wb ŷV gË¶Vm H$moï>H$

S>) {dYmZ AMa

B) gd©V: gË¶ {dYmZ

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao 200 eãXmV {bhm. [20]

A) ì¶§OZ Am{U d¡H$pënH$ ‘yb ŷV gË¶Vm H$moï>H$ d Ë¶mMo {Z¶‘ ñnï> H$am.

~) gmonm{YH$ {gÕVm åhUOo H$m¶? ¶mo½¶ CXmhaUmgh ñnï> H$am.
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H$) Imbrb {dYmZm§Mo {MÝhm§H$Z H$am. (’$º$ nmM)

i) am‘ Am{U í¶m‘ XmoKohr {‘Ì AmhoV. (R, S)

ii) aofm gai qH$dm dH«$ Amho. (S, C)

iii) Vwåhr Aä¶mg Ho$bmV Va Vwåhr CÎmrU© ìhmb. (S, P)

iv) ‘bm ZmoH$ar {‘imbr Va ‘r dmMoZ. (J, S)

v) ‘r Zmnmg Amho ho Iao Zmhr. (F)

vi) Vr dmMV Am{U {b{hV Zmhr. (R, W)

vii) Oa Vmo amOH$maUr Agob Va Am{U VaM Vmo A{^ZoVm hmoUma Zmhr. (P, A)

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr EH$m àíZm§Mo CÎma 400 eãXmV {bhm. [20]

A) {dYmZm§Mo AmYw{ZH$ dJuH$aU åhUOo H$m¶? Ë¶mMo àH$ma ñnï> H$am.

~) Ad¡YVm åhUOo H$m¶? Ë¶mMr H$m¶©nÕVr Vnerbdma gm§Jm.


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Q1) Write short notes : (any three) [15]
a) Civil Society
b) Social media
c) Forms of Kinship
d) Secularization
e) Concept of economy

Q2) Answer the following questions in 50 words each : (any three) [15]
a) State the relevance of mass media in contemporary society.
b) What is social movement?
c) Write on the types of family.
d) State the meaning of religion.
e) Discuss the types of marriage.

Q3) Answer the following questions in 200 words each : (any two) [20]
a) Discuss the characteristics of development.
b) Explain the types of religion.
c) Elucidate the changing trends of family.
d) Describe the challenges in higher education.

Q4) Answer the following questions in 300 words : (any one) [20]
a) Define social change. Discuss the characteristics of social change.
b) State the meaning of polity. Elucidate the forms of polity.



P.T.O.
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[5809]-237
F.Y. B.A.

SOCIOLOGY
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  (2019 Pattern) (Semester - II) (CBCS) (11372)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

P4097

à.à.à.à.à.1) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr VrZ) [15]
A) ZmJarg‘mO
~) g‘mO‘mÜ¶‘o
H$) ZmVog§~§Ym§Mo àH$ma
S>) Y‘©{ZanojVm
B) AW©g§ñWoMr g§H$ënZm

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao 50 eãXm§V {bhm. (H$moUVohr VrZ) [15]
A) g‘H$mbrZ g‘mOmVrb àgma ‘mÜ¶‘mMo ‘hÎd gm§Jm.
~) gm‘m{OH$ Midir åhUOo H$m¶?
H$) Hw$Qy>§~mMo àH$ma ¶mda {bhm.
S>) Y‘m©Mm AW© gm§Jm.
B) {ddmhmÀ¶m àH$mam§Mr MMm© H$am.

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao 200 eãXm§V {bhm. (H$moUVohr XmoZ) [20]
A) {dH$mgmÀ¶m d¡{eï>çm§Mr MMm© H$am.
~) Y‘m©Mo àH$ma ñnï> H$am.
H$) Hw$Qy>§~mMo ~XbVo àdmh {deX H$am.
S>) Cƒ {ejUmVrb AmìhmZo {deX H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr CÎmao 500 eãXm§V {bhm. (H$moUVmhr EH$) [20]
A) gm‘m{OH$ n[adV©ZmMr ì¶m»¶m Úm. gm‘m{OH$ n[adV©ZmÀ¶m d¡{eï>çm§Mr MMm© H$am.
~) amÁ¶g§ñWoMm AW© gm§Jm. amÁ¶g§ñWoMo àH$ma {deX H$am.


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Q1) Attempt each of the following:

A) In each of the following cases, choose the correct alternative: [1 each]

i) If Laspeyre’s price index number and Paasche’s price index number
are denoted by L and P respectively, then the Fisher’s price index
number (F) is given by

a) L + P b) L × P

c)
L+P

2
d) L×P

ii) If Corr (X, Y) = 0.8, the Corr (-2X, -2Y) is equal to

a) −0.8 b) 0.8

c) −0.32 d) 0.32

iii) If 
(A)(B)

(AB)=
n

, then two attributes A and B are

a) Independent b) Dependent

c) Correlated d) Quantitative

iv) Which of the following method is used to predict the value of an
unknown variable for a given value of another variable?

a) Scatter plot b) Regression

c) Correlation d) Covariance

P.T.O.
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v) If Y = X2, then X and Y are

a) linearly related b) independent

c) non-linearly related d) none of these

B) In each of the following, state whether the given statement is true or
false: [1 each]
i) Index number for the base year is taken to be 100.

ii) If Corr (X, Y) = 0.5 then Corr (2X, -3Y) = – 0.3

iii) The regression coefficient (b
yx

) always non-zero.

iv) A qualitative characteristic is called as an attribute.

v) The non-linear regression model is not applicable for real-life data.

Q2) Attempt any four of the following: [5 each]
a) Define the terms: Attribute, Dichotomy and Ultimate class frequency.

b) Explain the procedure of fitting a simple linear regression model
Y= a+bX+ε by least square method.

c) Explain the terms in case of construction of index numbers: Selection of
commodities and choice of the base period.

d) Explain the procedure of fitting of the curve Y = ab× by the method of
least squares.

e) Derive Spearman’s rank correlation coefficient in a case of without ties
of observations.

f) Define Karl Pearson’s correlation coefficient (r), and also, with usual
notations, show that −1≤ r ≤ 1.

Q3) Attempt any four of the following: [5 each]
a) What is index number? Discuss the problems in the construction of

index numbers.

b) Show that the magnitude of the correlation coefficient is invariant to
change of origin and scale.

c) Define Yule’s coefficient of association (Q) with usual notation and show
that −1≤ Q ≤ 1.

d) Explain the concept of non-linear regression with suitable real-life
examples. Also state its advantages over the linear regression model.

e) State and prove any two properties of regression coefficients.

f) If A and B are two independent attributes then show that A and β are also
independent.
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Q4) Attempt any two of the following:

a) For the following data, calculate Karl Pearson’s correlation coefficient
and interpret the result. [10]

X 2 3 4 5 6 7 8

Y 4 5 6 12 9 5 4

b) i) Test whether the following data is consistent: [5]

N = 100, (A) = 30 (B) = 80 (AB) = 40

ii) Compute the Laspyre’s Price Index numbers for the following data. [5]

Commodities Prices Quantities

Base Year Current Year Base Year Current Year

A 10 12 40 45

B 11 11 50 52

C 14 17 30 30

D 8 10 28 29

E 12 13 15 20

c) Find Spearman’s rank correlation coefficient for the following data:[10]

X 28 32 40 50 30 40

Y 55 50 60 50 45 50

d) Suppose X and Y are two continuous random variables. Find Karl
Pearson’s coefficient of correlation between X and Y using the following
information and interpret the result. Also, find the regression line Y on X
and estimate the value of Y for X = 45. [10]

n n

i ii =1 i =1

n n n2 2
i i i ii =1 i =1 i =1

n 10, X 666, Y 663,

X 44490, Y 44061 and X Y 44224

= = =

= = =

 
  


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Q1) Attempt any FIVE of the following: [10]
a) Find critical points of the function f (x) = x2 + 28x + 4.

b) Define the right hand derivative of f (x) at x = c.

c) Give an example of a function which is decreasing on .

d) Solve: 
1

dy y

dx x
=

+ .

e) Evalutate 
0

1 cos
lim
x

x

x→

− 
 
 

.

f) Find integrating factor for the differential equation x dx + y2 dy = 0.

g) If y = ex, then find y
n
.

Q2) Attempt any four of the following: [20]
a) If the functions f and g are differentiable at a point x = c, then prove that

f + g is differentiable at a point x = c.

b) If the function f : [a, b]→ is continuous on [a, b] differentiable on
(a, b) and f (a) = f (b), then prove that there exists at least one point
c∈ (a, b) such that f (c) = 0.

c) If the function f : [a, b]→ is continuous on [a, b], differentiable on
(a, b) and f '(x) > 0, ∀ x ∈ (a, b), then prove that f (x) is strictly increasing
on [a, b].

d) Show that the function f (x) = |x−1| is not differentiable at x = 1.

e) Evaluate 
0

lim x

x
x

→
.

f) If y(x) = sin x, then find y(0), y'(0), y''(0), y'''(0) and yiv(0).

P.T.O.
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Q3) Attempt any Four of the following: [20]

a) Explain a method to solve the homogeneous equation 
( )
( )

,

,

f x ydy

dx g x y
= .

b) Reduce the differential equation 
dy ax by

dx ax dy

+=
+  in variable separable form,

where 
a b

c d
= .

c) Solve (x2 + 2xy + y2)dx + (x + y)2dy = 0.

d) Find integrating factor (IF) of (x2 + y2 + 1)dx + 2ydy = 0.

e) Solve: 2
dy

x y
dx

= + .

f) From the differential equation by eliminating arbitrary constant a and b
from y = aex + be−x.

Q4) Attempt any TWO of the following: [20]

a) If 
M N

y x

∂ ∂=
∂ ∂ , then prove that the differential equation Mdx + Ndy = 0 is

exact.

b) Convert the differential equation 
dy y x

dx y x

−=
+  into variable separable form

and hence solve it.

c) Show that tan−1

3 5

...
3 5

x x
x x= − + +





1[5808] - 240

Total No. of Questions : 4]

[5808] - 240
First Year B.A.
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Q1) Attempt each of the following:
A) Choose the correct alternative of the following: [1 each]

i) If Corr (X,Y) = 0.25 then Corr(X+2,2–Y) is
a) -0.25 b) 0.25
c) 1 d) -1

ii) If the correlation coefficient r  =  ±1, then the regression lines______.
a) are parallel to each other
b)  are coincident
c) are perpendicular to each other
d) do not exist

iii) Inflation is measured with the help of
a) linear regression b) non linear regression
c) correlation d) index number

iv) The product of regression coefficients is always
a) 1 b) -1
c) less than equal to 1 d) greater than equal to 1

v) Attribute is a__________.
a) quantitative characteristics
b) qualitative characteristics
c) both (a) and (b)
d) neither (a) nor (b)

P.T.O.
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B) State whether the following statement is True or False: [1 each]

i) If X and Y are independent then, Var(X+Y)=Var(X)+Var(Y).
ii) If coefficient of association Q=1, then two attributes are completely

dissociated.
iii) If X and Y are uncorrelated then they are independent.
iv) The regression of the type Y=a+bX+cX2 is linear regression.
v) Price relative is the geometric mean of current year price and base

year price.

Q2) Attempt any FOUR of the following: [4×5=20]

a) Define the term correlation. Explain the concept of positive and negative
correlation with examples.

b) Discuss the effect of change of origin and scale on covariance.

c) Examine whether the following data are consistent:

(AB)=25, (A)=150, (B)=80, (

d) Make a critical comparison between Laspeyre’s and Paashe’s index
numbers.

e) Describe the stepwise procedure of fitting the curve Y=abX.

f) Interpret each of the following

i) byx=1.6

ii) bxy=0.4 also find r(X,Y).

Q3) Attempt any FOUR of the following: [4×5=20]

a) The regression equations are 4y-x=19 and 9x-y=39. Find

i) Arithmetic mean of x and y.

ii) Regression coefficient of X on Y

iii) Correlation coefficient between x and

b) Explain the importance of weights in constructions of index numbers.

c) If A and B are two independent attributes then show that and  are
also independent.
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d) Distinguish between association and correlation.

e) Calculate Laspeyre’s price index from the following information:

Item Base Year Current Year

Price Quantity Price Quantity

A 15 5 18 8

B 20 8 22 10

C 25 7 30 6

D 10 12 12 15

f) Define regression coefficients and state its properties.

Q4) Attempt any TWO of the following: [2×10 =20]
a) Explain the drawbacks of Laspeyre’s and Passche’s index number.
b) The profit (in lakhs.of Rs.) earned by company in X year tabulated below:

Year (X) 1 2 3 4 5
Profit (Y) 24 27 32 38 45

Fit a second degree curve, y = a + bx + cx2. Also estimate profit in 10th

year.
c) i) Out of 800 students 320 are married. Among 240 students who

failed, 96 were married. Find the coefficient of association between
the attributes marriage and failure in examination. Interpret the result.

[7]
ii) Write a short note on coefficient of determination. [3]

d) i) Given 1 0 1 1 0 0 0 12070, 1340, 1660, 1070p q p q p q p q       . [7]
Find the price index number by Laspeyre’s Paasche’s and Fisher’s
method.

ii) Distinguish between variable and attribute with suitable examples.
[3]


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Q1) Anwer any Three of the following questions in 50 words each. [15]
a) Explain the difference between Natural Objects and Artifacts.

b) State Aristotle’s idea of Man as a rarional animal’.

c) Briefly write the of Russell’s Autobiography.

d) Explain, ‘Atta Deepa Bhava’.

e) Explain the plurality of Religion.

Q2) Write a short note on any three of the following in 50 words each. [15]

a) "d¥jd„r Amåhm gmo¶ar dZMao' Saint Tukaram

b) Communicative Rationality.

c) Sartre’s views on ‘Freedom’.

d) Gandhiji’s Anasaktiyoga.

e) Philosophy of Religion.

Q3) Answer any Two of the following questions in 200 words each. [20]
a) Discuss fully Dehatmavada of Caravaka.

b) State the problems in Media Ethics.

c) Explain nature of Mahatma Gandhiji’s concept of Satyagraha.

Q4) Answer any One of the following questions in 400 words. [20]
a) Elaborately discuss Gandhiji’s concepts Truth and Non-Violence.

b) Discuss the difference between Need and Wants.


P.T.O.
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First Year B.A.
PHILOSOPHY
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(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

P4101

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao 50 eãXmV {bhm. [15]
A) "Z¡g{J©H$ dñVy' Am{U "H¥${Ì‘ dñVy' ¶mVrb ’$aH$ ñnï> H$am.
~) A°{añQ>m°Q>bMr "‘mZd EH$ ~wÕr‘mZ àmUr' hr H$ënZm gm§Jm.
H$) agobMo OrdZM[aÌ WmoS>³¶mV {bhm.
S>) ñnï> H$am, "AÎm… Xrnmo ^d…&'
B) Y‘m©Mr ~hþ{dYVm ñnï> H$am.

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr VrZda 50 eãXmV {Q>nm {bhm. [15]
A) "d¥jd„r Amåhm gmo¶ar dZMao'- g§V VwH$mam‘
~) gwg§dmXr {ddoH$erbVm
H$) gmÌ©Mo "ñdmV§Í¶' {df¶H$ Ñ{ï>H$moZ
S>) Jm§YrOtMm AZmgº$s ¶moJ
B) Y‘m©Mo VÎdkmZ

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao 200 eãXmV {bhm. [20]
A) Mmdm©H$m§À¶m XohmË‘dmXmMr g{dñVa MMm© H$am.
~) ‘mÜ¶‘m§À¶m Zr{VemómVrb g‘ñ¶m gm§Jm.
H$) ‘hmË‘m Jm§YrOtÀ¶m gË¶mJ«h g§H$ënZoMo ñdê$n ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 400 eãXmV {bhm. [20]
A) "gË¶' Am{U "A{h§gm' ¶m Jm§YrOtÀ¶m g§H$ënZm§Mr g{dñVa MMm© H$am.
~) JaO Am{U hì¶mg ¶mVrb ’$aH$mMr MMm© H$am.


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Q1) Write answer the following questions in about 20 words each (eight out of ten):
[16]

a) State coordination function of Social Welfare Administration.
b) Discuss importance of Evaluation in social work Administration.
c) What do you mean by Administration?
d) Clarify scope of welfare state.
e) State findings of Kothari commission.
f) State some features of welfare state.
g) State functions of Primary Health Centre.
h) What do you mean by Evaluation.
i) Discuss Health facilities in Maharashtra.
j) Write some Health facilities provided by NGOs/VAs nearby you.

Q2) Answer short notes in about 50 words each (any three out of four): [18]
a) What do you mean by Welfare State?
b) Clarify scope of welfare state.
c) What do you mean by Reporting?
d) State importance of maintaining relationship with staff.

Q3) Write answers of two questions in 100 words each (any two out of three):[16]
a) Describe ‘Planning’ function of Social Welfare Administration with

examples.
b) Describe some characteristics of Welfare State.
c) State Health facilities in Public Health Centres.

Q4) Write the answer of one question in 300 words (one out of two): [20]
a) Describe functions of Social Welfare Administration.
b) What is the meaning of ‘Health’ according to World Health Organization’.

Describe with examples.



P.T.O.
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[5808]-242
F.Y. B.A.

SOCIAL WORK
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(2019 Pattern) (Semester - II) (11432) (CBCS)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo A{Zdm ©̀ Amho.
2) COdrH$S>rb H§$gmVrb A§H$ nyU© JwU Xe©{dVmV.
3) B§J«Or Amd¥Îmr hr A§{V_ Agob.

P6380

à.à.à.à.à.1) nwT>rb àíZm§Mr CÎmao gw_mao 20 eãXm§V {bhm. (Xhmn¡H$s AmR>) [16]
A) g_mOH$ë`mU àemgZmMo H$m ©̀-g_Ýd` {bhm.
~) g_mOH$m ©̀ àemgZmVrb _yë`_mnZmÀ`m _hÎdmMr MMm© H$am.
H$) àemgZ åhUOo H$m`?
S>) H$ë`mUH$mar amÁ`mMr ì`már ñnï> H$am.
B) H$moR>mar Am`moJmMo {ZËH$f© gm§Jm.
\$) H$ë`mUH$mar amÁ`mMr ì`már ñnï> H$am.
`) àmW{_H$ Amamo½` H|$ÐmMr H$mhr d¡{eîQ>ço gm§Jm.
a) _yë`_mnZ åhUOo H$m`?
b) _hmamîQ´>mVrb Amamo½` gw{dYm§Mr MMm© H$am.
d) Vw_À`m AmgnmgÀ`m AemgH$s` g§ñWm / ñd §̀godr g§ñWm§À`m H$mhr Amamo½` gw{dYm {bhm.

à.à.à.à.à.2) nwT>rb àíZm§Mr CÎmao gw_mao 50 eãXm§V {bhm. (Mman¡H$s VrZ) [18]
A) H$ë`mUH$mar amÁ` åhUOo H$m`?
~) H$ë`mUH$mar amÁ`mMr ì`már ñnï> H$am.
H$) AhdmbboIZ åhUOo H$m`?
S>) ghH$m`mª~amo~a g§~§Y gwairVnUo R>odÊ`mMo _hÎd gm§Jm.

à.à.à.à.à.3) nwT>rb àíZm§Mr CÎmao gw_mao 100 eãXm§V {bhm. (VrZn¡H$s XmoZ) [16]
A) g_mOH$ë`mU àemgZmÀ`m "{Z`moOZ' H$m`m©Mo gmoXmhaU dU©Z H$am.
~) H$ë`mUH$mar amÁ`mÀ`m H$mhr d¡{eîQ>çm§Mo dU©Z H$am.
H$) gmd©O{ZH$ Amamo½` H|$ÐmVrb Amamo½` gw{dYm gm§Jm.

à.à.à.à.à.4) nwT>rb àíZmMo CÎma 300 eãXm§V {bhm. (XmoZn¡H$s EH$) [20]
A) g_mOH$ë`mU àemgZmÀ`m H$m`m©Mo dU©Z H$am.
~) OmJ{VH$ Amamo½` g§KQ>ZoV\}$ "Amamo½`mMm' AW© gmoXmhaU gm§Jm.





Total No. of Questions : 4]

[5808]-243
First Year B.A .

PUBLIC ADMINISTRATION
G1 : Introduction to Public Administration - II

 (2019 Pattern) (Semester - II) (11442)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4102 [Total No. of Pages : 4

SEAT No. :

Q1) Attempt any eight questions (20 words) [16]

a) Write two problems of Personnel Administration.

b) Write two merits of Personnel Administration.

c) Write objectives of retirement.

d) In ‘POSDCORB’  the letter ‘B’ stands for?

e) State two benefits of training.

f) Explain term Lokpal.

g) In which house of parliament budget use to introduce?

h) State two benefits of retirement.

i) What is spoil system.

j) State  two points about recruitment.

Q2) Attempt any Four questions (50 words). [16]

a) Explain meaning of Training.

b) State meaning of Personnel Administration.

c) Comment on Budget.

d) State meaning of Financial Administration.

e) Explian concept participatory Budget.

f) Write types of Budget.

P.T.O.
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Q3) Attempt any three questions (100 words) [18]

a) Discuss on Administrative Tribunals.

b) Discuss on Lokayukta.

c) Explain importance of Personnel Administration.

d) Explain relation of control and Accountability.

Q4) Attempt any two questions (200 words) [20]

a) Explain Budgetary Process.

b) Discuss on control over Public Administration.

c) Discuss on Accountability.

d) Explain Scope of Personnel Administration.


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Total No. of Questions : 4]

[5808]-243
First Year B.A .

PUBLIC ADMINISTRATION
G1 : Introduction to Public Administration - II

 (2019 Pattern) (Semester - II) (11442)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhooV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

P4102

à.à.à.à.à.1) WmoS>³¶mV CÎmao {bhm. (H$moUVohr AmR>) (20 eãXmV) [16]

A) H$‘©Mmar dJ© àemgZmÀ¶m XmoZ g‘ñ¶m {bhm.

~) H$‘©Mmar dJ© àemgZmMo XmoZ JwU {bhm.

H$) godm{Zd¥ÎmrMr C{X²Xï>ço {bhm.

S>) ‘POSDCORB’ ‘Ü¶o ‘B’ åhUOo?

B) à{ejUmMo XmoZ ’$m¶Xo gm§Jm.

’$) "bmoH$nmb' g§H$ënZm ñnï H$am.

¶) g§gXoÀ¶m H$moUË¶m g^mJ¥hmV ~OoQ> ‘m§S>bo OmVo?

a) godm {Zd¥ÎmrMo XmoZ ’$m¶Xo gm§Jm.

b) byQ> nÕVr åhUOo H$m¶?

d) ^aVr g§~§Yr XmoZ ‘wX²Xo {bhm.

à.à.à.à.à.2) 50 eãXm§V CÎmao {bhm. (H$moUVohr Mma) [16]

A) à{ejUmMm AW© ñnï> H$am.

~) H$‘©MmardJ© àemgZmMm AW© gm§Jm.

H$) "~OoQ>' da ^mî¶ H$am.

S>) {dÎm àemgZmMm AW© {dfX H$am.

B) gh^mJr ~OoQ> g§H$ënZm ñnï> H$am.

’$) ~OoQ> Mo àH$ma {bhm.
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à.à.à.à.à.3) 100 eãXmV CÎmao {bhm. (H$moUVohr VrZ) [18]

A) àemgH$s¶ Ý¶m¶{YH$aUm§da MMm© H$am.

~) "bmoH$m¶wº$' ¶mda MMm© H$am.

H$) H$‘©Mmar dJ© àemgZmMo ‘hÎd ñnï> H$am.

S>) {Z¶§ÌU d O~m~Xmar g§~§Y ñnï> H$am.

à.à.à.à.à.4) 200 eãXmV CÎmao {bhm. (H$moUVohr XmoZ) [20]

A) ~OoQ> à{H«$¶m ñnï> H$am.

~) bmoH$àemgZmda {Z¶§ÌU ¶mda MMm© H$am.

H$) "O~m~Xmar' da MMm© H$am.

S>) H$‘©Mmar dJ© àemgZmMr ì¶már ñnï> H$am.





Total No. of Questions : 4]

[5808]-244
F.Y. B.A. (Restructuring)

FOUNDATION COURSE - II (A - Component)
(2019  Pattern) (Semester - II) (11502)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4103 [Total No. of Pages : 2

SEAT No. :

Q1) Write the answer of any one of the following questions in 300 words. (Any one)
[15]

a) Explain the causes of population growth.
OR

b) Discuss the merits and demerits of Indian democracy in detail.

Q2) Write the answer of any one of the following questions in 300 words. (Any one)
[15]

a) Discuss the national values from the point of development of the nation.
OR

b) State the Geographical location, extent and boundaries of India.

Q3) Write the answer of any two of the following questions in 200 words. (Any two)
[20]

a) Explain the causes of gender inequality.
b) Write the importance of Himalayan Mountain.
c) Explain the National integration in detail.
d) State the basic duties of Indian citizen.

Q4) Write the following short notes in 100 words each (Any four). [20]
a) Major Educational cities in India.
b) Right to Information Act, 2005.
c) Importance of Indian Plateau.
d) The concept of Independence.
e) Zilha parishad
f) World brotherhood


P.T.O.
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Total No. of Questions : 4]

[5808]-244
F.Y. B.A. (Restructuring)

FOUNDATION COURSE - II (A - Component)
(2019  Pattern) (Semester - II) (11502)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm … 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P4103

à.à.à.à.à.1) Imbrbn¡H$s H$moUË`mhr EH$m àíZmMo CÎma 300 eãXm§V {bhm. [15]

A) bmoH$g§»¶m dmT>rMr H$maUo gm§Jm.
qH$dm

~) bmoH$emhrMo JwU-Xmof ¶mda g{dñVa MMm© H$am.

à.à.à.à.à.2) Imbrbn¡H$s H$moUË`mhr EH$m àíZmMo CÎma 300 eãXm§V {bhm. [15]

A) amï´>mÀ¶m {dH$mgmÀ¶m Ñ{ï>H$moZmVyZ amï´>r¶ ‘yë¶m§da MMm© H$am.
qH$dm

~) ^m¡Jmo{bH$ Ñï>¶m ^maVmMo ñWmZ, {dñVma d gr‘m ¶m§Mr ‘m{hVr {bhm.

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao 200 eãXm§V  {bhm. (H$moUVohr XmoZ) [20]

A) b¢{JH$ {df‘VoMr H$maUo ñnîQ> H$am.
~) {h‘mb¶ nd©Vam§Jm§Mo ‘hËd {bhm.
H$) amï´>r¶ EH$mË‘Vm åhUOo H$m¶ Vo ñnï> H$am.
S>) ^maVr¶ ZmJarH$mMo ‘wb ŷV H$V©ì¶o gm§Jm.

à.à.à.à.à.4) {Q>nm {bhm. 100 eãXm§V (H$moUVohr Mma) [20]

A) ^maVmVrb à‘wI e¡j{UH$ ehao
~) ‘m{hVrMm A{YH$ma A{Y{Z¶‘ - 2005
H$) {ÛnH$ënr¶ nR>mamMo ‘hÎd
S>) ñdmV§Í¶ - g§H$ënZm
B) {Oëhm n[afX
’$) {díd~§YwVm


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Total No. of Questions : 5]

[5808]-250
F.Y. B.A. (Vocational Stream)

FUNCTIONAL ENGLISH
An Introduction to English Language and Writing Skills in English

 (2019 CBCS Pattern) (Semester - II) (Paper-I) (Theory)
Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4104 [Total No. of Pages : 3
SEAT No. :

Q1) a) Write short notes on any two of the following. [7]

i) Vowels in English

ii) Stress

iii) Weak Forms

b) Attempt any two of the followings in about 100 words each [7]

i) What is word accent?

ii) Define consonants and explain it.

iii) What is intonation?

Q2) a) Transcribe the following words. (Any 7) [7]
i) Chair
ii) Cat
iii) Book
iv) Dream
v) Home

vi) Boil

vii) Year

viii) Class

ix) Elephant

x) Teacher

P.T.O.
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b) Mark appropriate intonation in the following sentences (Any 7) [7]

i) Ramesh is late for the class.

ii) Are you coming?

iii) You can manage.

iv) Open the window.

v) Please come to the party.

vi) The situation is not completely bad.

vii) What is your name?

viii) Would you drop me home.

ix) The sea is calm today.

x) He is late for office, isn’t he?

Q3) Write a paragraph on the given topics (Any 2) [14]

a) My hobby

b) Global Warming

c) Covid - 19

Q4) Write on emailon the following situations (Any 2) [14]

a) Your Friend passed staff selection Exam. Write an email to congratulate
him.

b) You are First year student. You and your classmate decided to organise
farewell program to Final year students . Write an emial to the class
teacher to take permission.

c) you need a loan to start small business. You need to apply for Mudra
loan. Write an email to Bank Manager for the detail information about it.



3[5808]-250

Q5) a) Write a paragraph on the following pie-chart Annual Expenditure of the
family is Rs. 3,00,000 For the year. Study the Pie-chart and write a
paragraph. [7]

The expenditure of the family : Rs. 3,00,000/-

b) Read the following passage and make notes. The word ‘Literature’ is
really difficult to define. Many interpretations are made about the word.
We think that all are incomplete. Some opines that literature is mirror of
life. Some says that it is criticism of life. There is controversy about the
word. We may say that literature is that which reflects life. The branches
of literature are poetry, drama, novel and short-stories. Poetry is of ‘two
kinds, imaginative and realistic. Drama is either a comedy or a tragedy.
Novel is also of manykinds, historical, Psychological, realistic, scientific
and regional. Short-story is that one which stands very close to life in
spite of its little scope. [7]

 
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Total No. of Questions : 5]

[5808]-250
F.Y. B.A. (Vocational Stream)

FUNCTIONAL ENGLISH
An Introduction to English Language and Writing Skills in English

 (2019 CBCS Pattern) (Semester - II) (Paper-I) (Theory)
Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P4104 [Total No. of Pages : 3
SEAT No. :

Q1) a) Write short notes on any two of the following. [7]

i) Vowels in English

ii) Stress

iii) Weak Forms

b) Attempt any two of the followings in about 100 words each [7]

i) What is word accent?

ii) Define consonants and explain it.

iii) What is intonation?

Q2) a) Transcribe the following words. (Any 7) [7]
i) Chair
ii) Cat
iii) Book
iv) Dream
v) Home

vi) Boil

vii) Year

viii) Class

ix) Elephant

x) Teacher

P.T.O.
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b) Mark appropriate intonation in the following sentences (Any 7) [7]

i) Ramesh is late for the class.

ii) Are you coming?

iii) You can manage.

iv) Open the window.

v) Please come to the party.

vi) The situation is not completely bad.

vii) What is your name?

viii) Would you drop me home.

ix) The sea is calm today.

x) He is late for office, isn’t he?

Q3) Write a paragraph on the given topics (Any 2) [14]

a) My hobby

b) Global Warming

c) Covid - 19

Q4) Write on emailon the following situations (Any 2) [14]

a) Your Friend passed staff selection Exam. Write an email to congratulate
him.

b) You are First year student. You and your classmate decided to organise
farewell program to Final year students . Write an emial to the class
teacher to take permission.

c) you need a loan to start small business. You need to apply for Mudra
loan. Write an email to Bank Manager for the detail information about it.
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Q5) a) Write a paragraph on the following pie-chart Annual Expenditure of the
family is Rs. 3,00,000 For the year. Study the Pie-chart and write a
paragraph. [7]

The expenditure of the family : Rs. 3,00,000/-

b) Read the following passage and make notes. The word ‘Literature’ is
really difficult to define. Many interpretations are made about the word.
We think that all are incomplete. Some opines that literature is mirror of
life. Some says that it is criticism of life. There is controversy about the
word. We may say that literature is that which reflects life. The branches
of literature are poetry, drama, novel and short-stories. Poetry is of ‘two
kinds, imaginative and realistic. Drama is either a comedy or a tragedy.
Novel is also of manykinds, historical, Psychological, realistic, scientific
and regional. Short-story is that one which stands very close to life in
spite of its little scope. [7]

 



Total No. of Questions : 4]

[5808]-255

F.Y. B.A. (Vocational)

TRAVEL AND TOURISM MANAGEMENT

Fundamentals of Tourism - II

(2019 Pattern) (Semester - II) (Paper - II) (11961)

Time : 2½ Hours] [Max. Marks : 70

Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Draw neat diagrams and sketches wherever necessary.

4) Use of map stencil is allowed.

P6381 [Total No. of Pages : 2

SEAT No. :

Q1) Answer any eight (Around 20 words each): [16]

a) Mention two destinations of religious tourism in India.

b) What do you mean by national integration?

c) How does tourism help in regional development?

d) What is domestic tourism?

e) What do you mean by nature of tourism?

f) What are the social benefits of tourism?

g) How does tourism help in educating the children in rural areas?

h) What do you mean by Microsoft Excel?

i) Mention the divisions of Department of Tourism.

j) What is cost benefit?

P.T.O.
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Q2) Write short notes on any three (Around 50 words each): [18]

a) Mention the committees and advisory bodies of department of tourism.

b) How does tourism industry help in building up good relations with other
countries?

c) Does tourism support environment and how?

d) What do you understand of economic impact of tourism?

Q3) Answer any two (Around 100 words each): [16]

a) Impact of tourism on politics.

b) India - “Land of all season”. Explain.

c) How does media support tourism?

Q4) Answer in detail any one (Around 500 words each): [20]

a) Explain foreign currency and balance of payment in detail.

b) How is the current position of tourism in Maharashtra? Write in detail.


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